TVC(cbch)(OOO) TVC(cbch)(OOl) TVC(cbch)(OOZ) TVC(cbch)(003)
K™ 1nuido/e+04 /25 T 1oze+ud [ 25 T Loze+ud /25 - AT 1L ovoe+ud [ 25
4000 Fnee po 4137+ 0.0 4000 Fomee po 4143+ 0.0 4000 _=— po 4145+ 0.0 4000 [ po 4143+ 0.0
pl -34.17 + 0.00 pl -34.31+ 0.00 r pl -34.2+ 0.0 pl -33.57 + 0.00
3000 - 3000 -1 3000 -— -1 3000 N
2000 1 2000 - 2000 -— = 2000 - 1

1 w0l C = 29.24 [ps/ch]

1000 b 1000 woor C =29.78 [ps/ch] ]
% s : % i gg i
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (0,0,4) TVC(cbch) (0,0,5) TVC(cbch) (0,0,6) TVC(cbch) (0,0,7)
- 11ug.4p9e+04 / 25 S nun g.3e+04 /25 - 11Uy 453e+04 | 25 - 1nug.41/e+04 /25
4000E pO 4180+ 0.0 4000, pO 4183+ 0.0 4000, pO 4176+ 0.0 4000, pO 4202+ 0.0
Pl -34.29% 0.00 pl -34.61+ 0.00 L Pl -33.23%0.00 Pl -34.55:0.00
3000~ E 3000 - 3000 ] 3000 E
2000F B 2000 |- E 2000 ] 2000 B
1000~ C ] woor C =28.90 [ps/ch] 7] 1000:— C =30.09 [ps/ch] — woor C =28.94 [ps/ch] ]
1 1 - 1 1 - L 1 1 - ] 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(0,0,8) TVC(eb.eh)=(0,0,9) TVC(eb.eh)=(0,0,10) TVC(eb.eh)=(0,0,11)
1 nuiL480e+U4 / 25 T 3.44e+04 1 25 © L sZoe+u4 [ 25 - i 488e+04 / 25
4000 fe pO 4238+ 0.0 4000 fme pO 4240+ 0.0 4000 fome, DO 4263+ 0.0 4000 fs p0 4270+ 0.0
Pl -37.05: 0.00 Pl -35.76+ 0.00 [ Pl -35.99 0.00 Pl -35.49: 0.00

3000 T 3000 - 3000 N 3000

2000 T 2000 -1 2000 . 2000

1000 1000 - 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(0012) TVC(cbch)(OOlB) TVC(CbCh)(OOl ) TVC(cbch)(OOlS)
T nun,uzoe+ud / 25 T, zz3e+u4 [ 25 Tnun,18/e+U4 [ 25 T, 194e+04 [ 25
4000 pO 4241+ 0.0 4000 pO 4255+ 0.0 4000 PD 4240+ 0.0 4000 [ 4243+ 0.0
pl -35.96 + 0.00 pl -35.29+ 0.00 r pl -34.97 + 0.00 -34.29 + 0.00
3000 7 3000 B 3000 - 3000 B
2000 7 2000 - 2000} ] 2000 J

1000 1000 - 1000

100F C = 29.16 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(cbch)(OlZ) TVC(cbch)(013)
AT inuiLurze+ud /25 AT 1L zove+ud [ 25 K™ 1 nuiL ivoe+u4 / 25 AT rnuiLzyse+ud [ 25

4000’ pO 4184+ 0.0 4000 fm po 4193+ 0.0 4000 e, PO 4215+ 0.0 4000 PO 4216+ 00
pl -34.25+ 0.00 pl -35.07 + 0.00 : pl -36% 0.0 pl -36.12+ 0.00

- 3000

- 3000 N

3000 -1 3000

2000 4 2000 - 2000 - 2000

1000 . 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0.1,4 TVC(cbch) (0.1, TVC(cbch) (0,1,6 TVC(cbch) (0.1,

Trnung 2‘_7::9+UA 125 Trnarg z)ile+04/25 Trnurg J)bbe+U4 125 Tonarg d)bbEH)AIZS
4000 fo pO 4209+ 0.0 4000 Fem, pO 4216+ 0.0 4000 e, pO 4230+ 0.0 4000 s pO 4233+ 0.0
pl -34.48 + 0.00 pl -34.54+ 0.00 - pl -35.27 + 0.00 pl -34.49 + 0.00
3000 - - 3000 - - 3000 :— —: 3000 - -
2000~ -1 2000 - -1 2000 :_ _: 2000 - -
w0 C = 29.00 [ps/ch] ] woo- C = 28.95 [ps/ch] . woof C = 28.35 [ps/ch ] wor C = 28.99 [ps/ch] ]
1 1 - 1 1 - : 1 1 - 4 1 1 -
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (O 1,8 TVC(cbch) (0 1, TVC(cbch) (0, 1 10 TVC(cbch) (0, l

REALES 24&4—04 125 S nug, 1)//e+u4/25 RRALEDS 124e+04/25 T nurg ab)/e+u4/25
4000 o, pO 4210+ 0.0 4000 4226+ 0.0 4000 n 4244+ 0.0 4000 o, p0 4244+ 0.0
pl -35.05+ 0.00 -34.33+ 0.00 F -35.3+ 0.0 pl -35.32+ 0.00

3000 - 3000 - 3000 = 3000 -

2000 - 2000 - 2000 -1 2000 -

1000 1 - —_ - 1000 1 1000 1

w0 C = 29.13 [ps/ch] C ]
- [
- -
- [ -
' '
1 1 E 1 1
50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)
T roze+u4 / 25 T nuiLp4ve+ud / 25 ~ 1L be5e+U4 / 25 T nui rove+ud [ 25
4000 fm, pO 4263+ 0.0 4000 [, pO 4270+ 0.0 4000 fm, PD 4254+ 0.0 4000 fe pO 4263+ 0.0
pl -37.06 + 0.00 pl -37.79+ 0.00 F pl -36.83 + 0.00 pl -36.93+ 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0)

A7 1 nui ooye+ud / 25
4201+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (02,4

-1 nuiL484e+04 / 25
4185+ 0.0
-35.67 + 0.00

e po
pl
e 4
% i
TP delay [ns]
TVC(cbch) (O 2,8
o pD

Tz ie+u4 [ 25
4226+ 0.0
-35.63+ 0.00

TP delay [ns]

TVC(cbch) (0,2, 12

A 1nun 2,

- po
p1

Z1e+u4 | 25
4245+ 0.0
-36.7 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1)

=, po

AT 1L suse+ud [ 25
4196+ 0.0
-35.45+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (0 2,5

- pO

pl

~nuiLbl/e+u4 /25
4204+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

— po

~ 1 nuy.quse+ud / 25
4258+ 0.0
-36.29 + 0.00

pl

TP delay [ns]

TVC(C, bch) (0,213

~ 1 nuiL gboe+ud / 25
4230+ 0.0
-36.72+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,2,2)

X1 na
po
pl

42.25125
4210+ 0.4
-35.7+ 0.0

TP delay [ns]

TVC(cbch) (0,2,6

T b3/e+u4 [ 25
4201+ 0.0
-36.28 + 0.00

- PO

[ o

L C = 27.56 [ps/ch .
5(') 10'0 =

TP delay [ns]

TVC(cbch) (0, 2 10

F= b

Tnugs2e+04 [ 25
4260+ 0.0
-36.13 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,214

T yzze+u4 [ 25
4246+ 0.0
pl -37.07 £ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3)

o=, po

pl

AT 1L ozse+u4 [ 25
4221+ 0.0
-36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

pe=e. pO
pl

-1 nun By3e+u4 / 25
4229+ 0.0
-37.14+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (0, 2

= pO

EALER 955e+u4/25
4258+ 0.0
-35.92+ 0.00

pl

TP delay [ns]

TVC(C, bch) (0,215

e pO
p1

Tinair4/e+04 /25
4244+ 0.0
-36.9 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

A7 nui sz1e+04 /25
4200+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,34

- i 139e+04 / 25
4188+ 0.0
-34.8+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 3,8

1 nuiz.49pe+04 / 25
= pO 4221+ 0.0
pl -34.69 + 0.00

TP delay [ns]

TVC(cbch) (0,312

T L gl4e+04 / 25
= po 4256+ 0.0
pl -36.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1

AT 1L zzse+ud [ 25
P po 4199+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,5

-1 nui Z1ye+u4 [ 25
e, pO 4193+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

-1 nu B0e+U4 / 25
= po 4235+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

<1 nuiL byoe+ud / 25
= pO 4247+ 0.0
-35.13+ 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,3,2)

1000

AT 1nuizse+V4 /25
- po 4212+ 0.0
L pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,36

- rnunL3p1e+u4 / 25
- pO 4212+ 0.0
3 pl -36.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 3 10

1 nuizpope+ud [ 25
- po 4246+ 0.0
- pl -35.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

T L p41e+u4 [ 25
- pD 4268+ 0.0
L pl -36.26 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

T Lzie+ud /25
pm-, pO 4224+ 0.0
pl -35.89+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,7

-1 nui 448e+04 / 25
- pO 4225+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 3

T bbée+l}4/25
- po 4255+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(C, bch) (03,15

T 1nuipu/e+ud /25
- pO 4264+ 0.0
p1 -35.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0

A~ 1 nuioute+ud / 25
- po 4203+ 0.0
p1 -36.96 + 0.00

TP delay [ns]

TVC(cbch) (04,4

- i 352e+04 [ 25
' po 4199+ 0.0
pl -36.37 + 0.00

- C N
= T
TP delay [ns]
TVC(cbch) (O 4,8

- hur 1'ooe+ud /25
pD 4220+ 0.0
-34.91+ 0.00

1
50 00

TP delay [ns]

TVC(cbch) (0,4,12

T i, ru4e+u4 [ 25
4227+ 0.0
-36.4+ 0.0

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

A7 1 nuiL bsve+u4 / 25
' po 4184+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

- nun 3rze+u4 [ 25
4201+ 0.0
-36.8 + 0.0

50 150
TP delay [ns]

TVC(c,b ch) (0 4,9

. Hul44dbe+u4/25
pO 4235+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 4 13

T nui p4ze+u4 [ 25
pO 4235+ 0.0
pl -36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (0,4,2)

X~ 1L 5/0e+04 [ 25
po 4219+ 0.0
p1 -38.01+ 0.00

TP delay [ns]

TVC(cbch) (04,6

T i, 714e+04 / 25
pO 4222+ 0.0
pl -37.89 + 0.00

TP delay [ns]

TVC(eb,oh)=(0, 4, 10

- nuiLyZ1e+ud [ 25
pO 4256+ 0.0
p1 -35.54 + 0.00

TP delay [ns]

TVC(cbch) (0,4,14

Ty re+ud /25
pD 4226+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

A 1L 7aae+ud | 25
po 4226+ 0.0
pL -36.5+ 0.0

TP delay [ns]

TVC(c,b ch) (0 4,7

= 1 nui Sg1e+04 / 25
po 4217+ 0.0
p1 -37.11+ 0.00

TVC(c,b ch) (0, 4

50 100
TP delay [ns]

T 4aue+u4/25
pO 4264+ 0.0
p1 -36.11+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 4 15

- prge+ud [ 25
pO 4235+ 0.0
p1 -37.39+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0)

A1

Lyoe+ud [ 25
4176+ 0.0
-36.62+ 0.00

TP delay [ns]

TVC(cbch) (0,5,4

1bze+U4 / 25
4190+ 0.0
-35.17 + 0.00

— po,..u.l
pl
e ]
% T
TP delay [ns]
TVC(cbch) (O 5,8
g pD

T Ly ze+u4 [ 25
4181+ 0.0
-34.41+ 0.00

p1

TP delay [ns]

TVC(cbch) (0,5,12

= po
p1

~ 1L poze+u4 | 25
4193+ 0.0
-34.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,51)

. p0

p1

AT rnuLyroe+ud [ 25
4175+ 0.0
-37.52+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

-1 nui Zs4e+u4 [ 25
4180+ 0.0
-36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (0 59

T naiUs/e+ud [ 25
4200+ 0.0
-35.36 + 0.00

TVC(C, bch) (0,5,13

TP delay [ns]

T nuiLgp3e+ud [ 25
4200+ 0.0
-34.54+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,5,2)

=, PO

AT 1nuizyre+ud /25
4181+ 0.0
-36.7+ 0.0

pl

TP delay [ns]

TVC(cbch) (0,56

pO
p1

- nuiLzyze+u4 [ 25
4190+ 0.0
-35.89 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

T z.3ze+04 125
= po 4222+ 0.0
L pl -35.16 + 0.

-35.16 + 0.00

TP delay [ns]

TVC(cbch) (0,5,14

- DD
pl

~1nuiLgoye+u4 [ 25
4203+ 0.0
-35.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3)

e po

pl

AT rnuiL1yre+ud [ 25
4182+ 0.0
-36.14 + 0.00

TVC(c,b ch) (0 57

pe=e. pO
pl

1
100

TP delay [ns]

-1 nui baze+u4d / 25

4201+ 0.0
-33.78 + 0.00

[ C =29.61 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (0, 5

= pO

T bbze+u4/25
4217+ 0.0
-34.64 + 0.00

pl

TP delay [ns]

TVC(C, bch) (0,5,15

== pO

T nuiazoe+ud [ 25
4202+ 0.0
-35.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

X~ 1w 1y4e+04 /25
', po 4204+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

TVC(cbch) (06,4

- i 339e+04 [ 25
po 4193+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

-z bave+ud [ 25
pD 4211% 0.0
p1 -36.53+ 0.00

TP delay [ns]

TVC(cbch) (0,6,12

- i 33e+04 [ 25
po 4222+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1

X125 e+Ud | 25
Fee.. po 4196+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

-/ nULa54e+U4 | 25
= pO 4177+ 0.0
p1 -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

- Szse+ud ] 25
e pO 4226+ 0.0
pL -36.23+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 6 13

Tinuib3ie+ud [ 25
= pO 4215+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

A1 1sze+04 [ 25
- po 4201+ 0.0
[ p1 -35.58 + 0.00

3000

TP delay [ns]

TVC(cbch) (06,6

©1nuiL448e+04 | 25
- pO 4196+ 0.0
L p1 -35.79+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(0, 6, 10

1000

0

- 1 nug.u91e+04 | 25
- pO 4251 0.0
[ p1 -37.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

-1 sloe+ud [ 25
- pD 4219+ 0.0
L p1 -35.73+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

A1 nuiL32/e+ud [ 25
- po 4218+ 0.0
pL -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

=1 nui buse+u4 / 25
- pO 4193 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

=g, m,e+u4 125
e pO 4264+ 0.0
pL -37.42:% 0.00

TP delay [ns]

TVC(c,b ch) (0, 6 15

T inuiaipe+ud [ 25
- po 4220+ 0.0
p1 -35.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,0

A7 nun suse+ud / 25
o= po 4200+ 0.0
pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (07,4

T i, rzoe+04 | 25
- pO 4220 0.0
pl -35.35+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

T4 re+u4 [ 25
= po 4233+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (0,7,12

T 1L p3be+u4 / 25
= po 4220+ 0.0
-34.46 + 0.00

[ C =29.02 [ps/ch]
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1

AT rnunLssie+ud /25
P, po 4210+ 0.0
pl -37.65+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

=1 1L bube+u4 / 25
- pO 4223+ 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

T a7 ge+u4 [ 25
- pO 4241% 0.0
pl -36.65 + 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

T nuiL oye+ud [ 25
- pO 4237+ 0.0
pl -36.45+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,7,2)

K™ 1 nui4uie+ud /25
=, po 4233+ 0.0
o pl -37.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,7,6

T i, 744e+04 | 25
- pO 4223+ 0.0
- pl -35.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

©1nuigplge+ud / 25
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TP delay

TVC(CbCh) (o, 14 14

= P"
pl

[ns]

S o ze+04 [ 25
4238+ 0.0
-37.1+ 0.0

PR R R S R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,14,3)

o po

A~ 1 nuiLb01e+U4 [ 25
4197+ 0.0
pL -35.19+ 0.00

TP delay

TVC(c,b Ch) (0, 14 7

E. pO

[ns]

-1 nui bzle+u4d / 25
4205+ 0.0
pl -34.55+ 0.00

TP delay

TVC(e.beh)=(0, 14, 11

. pO

[ns]

T nui g4ne+u4 / 25
4230+ 0.0
pl -36.05+ 0.00

TP delay

TVC(cbch) (0, 14 15

e pO

[ns]

- i Bu3e+ud [ 25
4243 0.0
p1 -37.29+ 0.00

TP delay

[ns]



TVC(CbCh) (o, 15 0)

4000 fm, pO

pl

T Lure+ud /25
4193+ 0.0
-33.63+ 0.00

3000

2000 =

woor C =29.73 [ps/ch]

1
50 100

TP delay

TVC(Cbch) (o, 15 4

4000

[ns]

- 1L 3b4e+04 / 25
4208+ 0.0
-35.99+ 0.00

pO
pL
3000 [~ ]
2000~ ]
1000~ C ]
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (o, 15 8)
~ 1 nuz,uvye+ud / 25
4000 [ 4217+ 0.0
p1 -35.28 + 0.00

3000

2000

1000

TP delay

TVC(Cbch) (o, 15 12

4000 [

[ns]

- 1 nui pyYe+ud / 25
4228+ 0.0
p1 -34.85+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b Ch) (0,15,1

- C=30.21 [ps/ch] > 1
L L

X~/ nar )3Uu7 /25
- PO 4192:0.0
pl__ -33.1:0.0

TP delay [ns]

TVC(c,b Ch) (0, 15 5

- 11U 4b4e+04 / 25
e, pO 4210 0.0
p1 -36.28+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

- /U 524e+U4 ] 25
- pO 4255 0.0
pL -35.37+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15 13

Tinaiar/e+ud 25
= pO 4219+ 0.0
p1 347+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

1000

TVC(CbCh) (0,15,2)

- P

X~ 1L z5/e+04 [ 25
4215+ 0.0
p1 -35.31+ 0.00

TP delay

TVC(Cbch) (o, 15 6

[ns]

© i bh3e+u4 / 25
4216+ 0.0
pl -36.39 + 0.00

F= PO
- C = 27.48 [ps/ch .
= poone
TP delay [ns]

TVC(e,b,ch)=(0, 15, 10

= o

©1nuzb4pe+ud | 25
4274+ 0.0
pl -36.05+ 0.00

TP delay

TVC(CbCh) (o, 15 14

= 0

[ns]

- syle+ud [ 25
4216+ 0.0
-34.39 £ 0.00

- C = 29.08 [ps/ch]

PR R R S R |
50 100

TP delay

[ns]

TVC(Cbch) (0,15,3)

X1 1 ize+ud ] 25
4210+ 0.0
p1 -34.87+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c,b Ch) (0, 15 7

4000 [ pO

[ns]

- nui blye+ud / 25
4232+ 0.0
p1 -36.56+ 0.00

3000

2000 -

1000 C

50 160
TP delay

TVC(e,beh)=(0, 15, 11

4000 ey pO

pl

[ns]

Tonai r11e+ud [ 25
4251+ 0.0
-34.41+ 0.00

3000 -

2000 =

lo00F C = 29.06 [ps/ch]

1
50 00

TP delay

TVC(cbch) (0, 15 15

4000 [u.

[ns]

- rna 1ade+ud | 25
4225+ 0.0
pL -34.92:+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0)

Sbae+ud /25
4181+ 0.0
-36.18 + 0.00

A1

= po

pl

TP delay [ns]

TVC(cbch) (1,0,4

bBze+U4 / 25
4163+ 0.0
-35.94 + 0.00

— po,..u.l
pl
e 4
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (1, Q 8
= po

.(25e+U4 | 25
4187+ 0.0
-34.36 + 0.00

TP delay [ns]

TVC(cbch) (1,0, 12

A1,

b, po
p1

rs4e+U4 /25
4199+ 0.0
-34.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1)

444e+04 [ 25
4183+ 0.0
-36.78 + 0.00

PSR

= po

p1

TP delay [ns]

TVC(c,b ch) (1, O

=1 i bobe+u4 / 25
4172+ 0.0
-35.42 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

T inun 4.09e+04 / 25
4208+ 0.0
-34.56 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

=, pO

T inuiLysle+ud [ 25
4199+ 0.0
-35.93+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,0,2)

™, po

A7 1 nui4o0e+04 /25
4177+ 0.0
-35.51+ 0.00

pl

TP delay [ns]

TVC(cbch) (10,6

-1 nuiL bage+u4 / 25
4182+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(cbch) (1, 0 10

- o

pl

Tz z34e+04 | 25
4226+ 0.0
-34.75+ 0.00

TP delay [ns]

TVC(cbch) (1,0,14

T rnuiLyz1e+u4 /25
4212+ 0.0
pl -37.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (1,0,

A

po
pL

3

nuiLbzoe+u4 / 25
4201+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

-

peee. pO
pl

nui b3le+u4 / 25
4193+ 0.0
-36.27 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, O

e pO

Sy /bE+U4/25
4234+ 0.0
-35.46 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (1,0,

X1

P, po

15

nuiz,152e+U4 / 25
4205+ 0.0
-36.41+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

A~ 1L siie+ud [ 25
P po 4173+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (11,4

-1 384e+04 / 25
- pO 4173 0.0
pl -35.58:+ 0.00

TP delay [ns]

TVC(eboh)=(1, 1,8

T L rze+u4 [ 25
= po 4193+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

© i pzoe+u4 / 25
== po 4209+ 0.0
pl -36.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1 nuiLsove+ud [ 25
Fee,, po 4194+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

~nui 34/e+04 / 25
o pO 4191% 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

T nun g oe+u4 [ 25
= po 4217+ 0.0
p1 -34.25+ 0.00

- C =29.20 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

Tinuin3/e+ud [ 25
- pO 4201+ 0.0
pl -36.69 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (1,1,2)

TP delay [ns]

TVC(cbch) (11,6

K™ 1 nui440e+04 /25
__- po 4193+ 0.0
o pl -35.22+ 0.00

3000

T 1nuiL447e+04 | 25
[F-e. pO 4200+ 0.0
- pl -35.91+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 1, 10

© 1z zove+u4 | 25
= po 4225+ 0.0
- pl -34.36 + 0.00

- C =29.10 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (1,114

T rnuiLplse+ud [ 25
= pD 4212+ 0.0
L p1 -36.74 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT 1L suse+ud [ 25
P, po 4201+ 0.0
p1 -34.88 + 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- nun 3rze+04 /25
- pO 4200+ 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nuiLo/oe+u4 [ 25
- po 4228+ 0.0
p1 -34.98 £ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

Tinuioz/e+ud [ 25
- pO 4202+ 0.0
p1 -35.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

X~ 1 so0e+U4 [ 25
™, PO 4193+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (1,24

“nun 1 18e+u4 /25
e, pO 4211+ 0.0
pl 3579 0.00

TP delay [ns]

TVC(cbch) (1,28

©1nuiz,ugoe+u4 | 25
- PD 4195+ 0.0
pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (1,212

T L ysse+ud / 25
= PO 4238+ 0.0
pl -36.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT 1 nuiL3use+u4 / 25
- po 4194 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

S nun1.42e+04 /25
- DU 4229+ 0.0
-35.7+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

~ 1 nug.z49e+u4 / 25
- DO 4217+ 0.0
pl -35.03 + 0.00

TP delay [ns]

TVC(C, bch) (1,213

T zre+u4 | 25
F= pO 4236+ 0.0
pl -37.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,2,2)

X~ 1w 1ove+U4 [ 25
- po 4207+ 0.0
3 pl 3562 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

- 1 i 4o8e+04 / 25
- pO 4238+ 0.0
3 pl -35.86 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

© L yzze+u4 [ 25
- DO 4226+ 0.0
r pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (1,2 14

T nuz,uyle+ud / 25
= PD 4237+ 0.0
F pl -36.12 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

AT rnuiLzye+u4 [ 25
- po 4201+ 0.0
pl -34.6 + 0.0

TP delay [ns]

TVC(c,b ch) (1 2,7

=1 nui buse+u4 / 25
- PO 4235+ 0.0
Pl 3554+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

SRR 91=e+u4/25
- pO 4249+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

-1 nuiz.yuse+ud / 25
4233+ 0.0
-36.11 + 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

K™ nui ruoe+ud / 25
4204+ 0.0
-37.12+ 0.00

TP delay [ns]

TVC(cbch) (1,34

T b3 /e+u4 [ 25
- pO 4198+ 0.0
pl -37.07:+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T rnuzuole+u4 [ 25
- po 4228+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (1,312

T rnuiLbz1e+04 /25
- po 4192+ 0.0
pl -33.33+ 0.00

[ C =30.01 [ps/ch]

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,1)

- po

AL (a1e+U4 ] 25
4205+ 0.0
-35.75+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 3

- 1nui by /e+u4d / 25
E pO 4229 0.0
pL -38.33+ 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (1 3,9

Tnun 3n4e+04 1 25
- pO 4247+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(C, bch) (1,3,13

T nai ozve+ud [ 25
feee. 4194+ 0.0
-33.44+ 0.00

[ C =29.90 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

- po

pl

A7 1 nun szoe+u4 /25
4208+ 0.0
-36.06 + 0.00

TP delay [ns]

TVC(cbch) (1,36

- i, r89e+u4 [ 25
3 pO 4229+ 0.0
[ pl -38.16 + 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

©1nuiLyz4e+u4 | 25
. po 4268+ 0.0
- pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (1,3 14

PO
pl

o 4450/ 25
4188+ 0.0
-33.33+ 0.00

- C = 30.01 [ps/ch]

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

o=, po

pl

AT rnuiLbure+ud /25
4223+ 0.0
-36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

-1 nui Bule+ud / 25
- pO 4235 0.0
pL -37.79+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T bd‘Je+U4/25
- po 4252+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(C, bch) (1,315

T nuiagie+ud [ 25
= pO 4198+ 0.0
-34.03+ 0.00

[ C =29.39 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0

A7 1 nun osze+u4 /25
- po 4219+ 0.0
pl -38.26 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

- 1nuiL4y3e+ud [ 25
== po 4201+ 0.0
pl -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

©1nuiz.440e+04 | 25
- pO 4240+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (1,412

©rnuiLg4pe+u4 / 25
= po 4206+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT rmuiLbrie+ud /25
F po 4223+ 0.0
pl -38.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= 1 nui eoge+ud / 25
== po 4215+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 nu gbye+ud / 25
- po 4267+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

T nai rs0e+ud / 25
4215+ 0.0
-35.81+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,4,2)

A7 1nui714e+04 /25
po 4226+ 0.0
pl -37.96 + 0.00

TP delay [ns]

TVC(cbch) (1,4,6

T i/ (1e+04 [ 25
- pO 4220+ 0.0
[ pl -36.42+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

T, r31e+04 /25
- DO 4288+ 0.0
L pl -37.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,14

1 nuiLpsbe+u4 / 25
- pD 4218+ 0.0
L p1 -35.72+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT 1L boze+ud [ 25
=, po 4227+ 0.0
pl -37.61+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

= 1 Ui bave+ud / 25
= po 4226+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
~ 1 nuiz.yzae+ud [ 25
- po 4275+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

T nui szoe+ud [ 25
4210+ 0.0
-36.1+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0)

A7 nuipsse+ud /25
po 4189+ 0.0
-35.58+ 0.00

C =28.11 [ps/ch

TP delay [ns]

TVC(cbch) (1,54

- 1 1uiL.444e+04 / 25
o, pO 4222+ 0.0
pl -35.93+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

1 nuz.Yobe+u4 / 25
po 4233+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (1,512

T 1re+u4 /25
pO 4250+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

AT rnuiLroLe+ud [ 25
o, po 4194+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

S nui b r3e+u4 [ 25
pO 4223+ 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

T nuy.a19e+u4 / 25
po 4258+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (1,5,13

Tinai g rve+ud [ 25
pO 4246+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (1,5,2)

AT 1nui r43e+04 /25
po 4199+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (1,56

© i 745e+04 [ 25
po 4240+ 0.0
pl -36.68+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (1, 5 10

©1nuz.gyse+ud | 25
po 4272+ 0.0
-36.9+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,514

T zse+ud /25
pD 4244+ 0.0
pl -35.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,53)

[ C =28.53[ps/ch

T zzze+ud [ 25
pO 4208+ 0.0
pl -35.05+ 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

-1 nui bgye+u4 / 25
pO 4241+ 0.0
pL -35.52:+ 0.00

TVC(c,b ch) (1, 5

TP delay [ns]

EREALER au/e+u4/25
po 4279+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (1,5,15

TinuiLay/e+ud [ 25
pO 4255+ 0.0
p1 -35.57 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

' po

pl

K™ nui ozze+V4 /25
4191+ 0.0
-37.04 + 0.00

TP delay [ns]

TVC(cbch) (16,4

= o,

byve+u4 / 25
4219+ 0.0
-36.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1 6,8

Tz 145e+04 [ 25
4220+ 0.0
-34.75+ 0.00

TP delay [ns]

TVC(cbch) (1,6, 12

A1,

po
p1

r9ze+U4 /25
4230+ 0.0
-37.22+ 0.00

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (1,6,1)

=, po

A” 1 nuiLbzoe+ud [ 25
4196+ 0.0
-36.58 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 6

- b3se+u4d [ 25
4216+ 0.0
-36.13+ 0.00

TP delay [ns]

TVC(c,b ch) (1,6,9

X1,
== po

pl

129e+U4 | 25
4240+ 0.0
-35.19 + 0.00

TP delay [ns]

TVC(C, bch) (1,6,13

T nui ssye+ud [ 25
4227+ 0.0
-36.39+ 0.00

TP delay [ns]
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1000
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1000

1000

TVC(cbch) (1,6,2)

™, po

A7 1 nuisuye+ud / 25
4203+ 0.0
-37.38+ 0.00

pl

TP delay [ns]

TVC(cbch) (16,6

-1 nuiLbule+ud / 25
4219+ 0.0
-35.6+ 0.0

TP delay [ns]

TVC(cbch) (1, 6 10

- o

pl

Tz 1z4e+04 | 25
4254+ 0.0
-34.96 + 0.00

TP delay [ns]

TVC(cbch) (1,6, 14

Ao,

r11e+u4 /25
4221+ 0.0
-36.02+ 0.00

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (1,6,3)

e po

pl

AT 1L BUse+u4 [ 25
4211+ 0.0
-35.84+ 0.00

TVC(c,b ch) (1 6,7

pO
pl

1
100

TP delay [ns]

-1 nui byye+u4 / 25
4218+ 0.0
-35.05+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

T bd‘Je+U4/25

4245+ 0.0
-34.63+ 0.00

[ C =28.88 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (1,6,15

T nai r8ye+ud [ 25
4212+ 0.0
-36.11 + 0.00

1
100

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (1,7,0

X~ 1w z14e+04 /25
e po 41832 0.0
p1 -35.37+ 0.00

TP delay [ns]

TVC(cbch) (17,4

- i 339e+04 [ 25
.. po 4195+ 0.0
pl -36.72+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(1,7,8

- i Sone+ud 1 25
- pD 4217+ 0.0
p1 -36.36+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7 12

a1 Z1e+0d /25
= po 4226+ 0.0
p1 -35.39 + 0.00

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (1,7,1

x- 1 i dose+ud | 25
= po 4201% 0.0
pL -36.28+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

~ 1 naiL 344e+04 / 25
4193+ 0.0
-36.5 % 0.0

50 150
TP delay [ns]

TVC(c,b ch) (17,9

~ 1 nug.zsye+ud [ 25
4219+ 0.0
-35.7+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, 7 13

Tinaizzie+ud [ 25
- pO 4227+ 0.0
pl -36.32+ 0.00

TP delay [ns]
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1000
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1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,7,2)

X~ 1L 439e+04 [ 25
- po 4194+ 0.0
[ p1 -35.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

- L y3ge+ud [ 25
- pO 4239+ 0.0
[ pL -36.92+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 7, 10

-1z 15/e+04 1 25
-, pO 4227+ 0.0
X pL -35.83 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,7,14

S 1le+ud /25
- pD 4222+ 0.0
L pl -35.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000
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1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

A7 1 nuiL4o8e+U4 / 25
- po 4211+ 0.0
pl -36.54+ 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

- b38e+u4 / 25
4219+ 0.0
-37.2+ 0.0

50 160
TP delay [ns]

TVC(c,b ch) (L7,

1)
T nui g3ze+u4 / 25
= pO 4238+ 0.0
p1 -36.49 £ 0.00

TP delay [ns]

TVC(c,b ch) (1, 7 15

- i 1one+ud [ 25
= pO 4230+ 0.0
p1 -35.59 + 0.00

TP delay [ns]
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1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

X~ 1w 5zve+U4 [ 25
™, PO 4173+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (18,4

- il /oe+ud / 25
- pO 4211+ 0.0
pl -37.73+ 0.00

TP delay [ns]

TVC(cbch) (1 8,8

S rnui 7yre+u4 [ 25
- PD 4203+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (1,812

TinuiLsrye+ud / 25
- PO 4237+ 0.0
pl -36.45 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1 nuLoyse+ud [ 25
™, po 4200+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (1,8,5

'V”Ulidbe+04/25
= Y 4204+ 0.0
pL -37.26  0.00

TP delay [ns]

TVC(c,b ch) (1 8,9

-, ia4e+u4 / 25
4229+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,813

T bzge+u4 [ 25
- PO 4220% 0.0
pl -35.24 + 0.00

TP delay [ns]
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1000

4000

2000

4000

2000

1000

TVC(cbch) (1,8,2)

1000

X~ 1w bage+U4 [ 25
- PO 4203 0.0
I pl -36.61 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

- i Z8pe+04 | 25
- pO 4207+ 0.0
r pl -36.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

1000

S o zzre+ud /25
- DO 4241+ 0.0
r pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

T i ozoe+ud [ 25
- PD 4236+ 0.0
I pl -36.98 + 0.00

3000
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50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

- Lose+ud /25
e PO 4207+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

-1 nui 3vbe+u4 / 25
= PO 4208+ 0.0
pL -37.08:+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

SRR ‘Jb‘Je+U4/25
- pO 4234+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (1,815

T bbze+u4 [ 25
= pO 4237+ 0.0
pl -35.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (1,9,0)

AT /1se+u4 /25
4194+ 0.0
pl -36.06 + 0.00

TP delay

TVC(cbch) (1,94

[ns]

- a1 rge+u4 [ 25
4208+ 0.0
-36.21+ 0.00

p1

e pO
pL
3000 ]
2000~ ]
1000~ C ]
0 = 00 -
TP delay [ns]
TVC(cbch) (1,9,8)
1 nuiL4u8e+u4 / 25
2000 £ pD 4180+ 0.0
-33.89 + 0.00
3000 - ]
2000 = 7
10r C =29.50 [ps/ch]™,_ 7
1 1 -
b 50 100
TP delay [ns]
TVC(cbch) (1,9 12)
~ 1 nuiL4yoe+u4 / 25
2000 pO 4206+ 0.0
-34.7+ 0.0

3000

2000

1000

TP delay

[ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,1)

™ po

AT 1nuiLoo/e+u4 [ 25
4204+ 0.0
-35.77 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (1, 9

F- pO

- nui 213e+04 / 25
4222+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

T inaiUz/e+ud [ 25
4212+ 0.0
-34.61+ 0.00

1
100

TP delay [ns]

TVC(C, bch) (1,9,13

=, pO

p1

T inai szze+ud [ 25
4194+ 0.0
-34.11 + 0.00

[ C =29.32 [ps/ch]

50

il
100

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (1,9,2)

A7 1 nui sove+ud / 25
_- po 4200+ 0.0
o pl -36.16+ 0.00

3000

TP delay [ns]

TVC(cbch) (19,6

1000

-1 nuiL 3b4e+04 / 25
- pO 4228+ 0.0
[ pl -36.89+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 9 10

T nub3ze+u4 | 25
= po 4229+ 0.0
L pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (1,914

~ L b3pe+u4 / 25
= pD 4200+ 0.0
L p1 -35.26 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (1,9, 3)

= po

pl

AT 1L 4soe+ud [ 25
4232+ 0.0
-37.96 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

-1 nui 3ype+u4 / 25
4233+ 0.0
-36+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (1, 9

T, /U=e+u4/25

4221+ 0.0
-34.08 + 0.00

[ C=29.34 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (1,9,15

T 1nui szoe+ud [ 25
4209+ 0.0
-34.23+ 0.00

[ C=29.22 [ps/ch]

50

1
100

TP delay [ns]
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1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

©rnuiLg44e+04 /25
.. pO 4196+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (1,104

- i 311e+u4 / 25
- pO 4185+ 0.0
p1 -34.39+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 8

T rnugg1e+u4 / 25
= po 4229+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

[ C =29.50 [ps/ch]

T z3e+u4 | 25
= po 4223+ 0.0
-33.9+ 0.0
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TP delay [ns]
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1000

4000

3000
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1000

TVC(chh) (1,10,1)

AT 1 nuiLsr4e+U4 [ 25
o=, po 4213+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c, bch) (1,105

-1 nui bhze+u4d [ 25
e pO 4186+ 0.0
pL -35.08+ 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

T nugasle+ud / 25
- pO 4234+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (110,13

T nuiazge+ud [ 25
F 4228+ 0.0
-32.93+ 0.00

[ C =30.37 [ps/ch] ™, 7
s x
TP delay [ns]
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1000

TVC(CbCh) (1,10,2)

AT inuisire+u4 /25
=, po 4200+ 0.0
o pl -34.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

S bl/e+ud [ 25
- pO 4204+ 0.0
[ pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

T L brge+u4 | 25
- po 4251+ 0.0
- pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (110,14

T L gs4e+u4 [ 25
4228+ 0.0
-34.9+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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1000

TVC(Cbch) (1,10,3)

AT L4y re+ud [ 25
=, po 4198+ 0.0
p1 -34.59 + 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

-/ i agae+0d | 25
- pO 4216+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

" nuig1Ye+u4 / 25
= po 4276+ 0.0
pl -38.21+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

Tinan 1 poe+ud [ 25
F=. 4212+ 0.0
-33.66 + 0.00

[ C=29.71 [ps/ch] ]
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50 100

TP delay [ns]
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0
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2000

1000

TVC(CbCh) (1,11,0)

AT/ 1se+u4 /25
o= po 4200+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(cbch) (1,114

- i 183e+04 / 25
- pO 4205+ 0.0
p1 -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh=(L, 11,8

T rnuig.guLe+u4 / 25
4227+ 0.0
-36.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,11, 12

X~ 1 bzze+04 [ 25
= po 4240+ 0.0
pl -35.98 + 0.00

TP delay [ns]
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1000
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3000
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1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT rnunLy (se+ud [ 25
.. po 4210+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

-1 nui43ze+04 [ 25
- pO 4201% 0.0
pL -35.99+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

<1 nuw,pube+u4 / 25
= po 4253+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inuisi4e+ud /25
pO 4238+ 0.0
pl -36.47 + 0.00

TP delay [ns]
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1000
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3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,11, 2)

A7 1 nuisoze+V4 /25
__- po 4225+ 0.0
- pl -37.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

Tnu 1.5e+04 /25
- pO 4220+ 0.0
[ pl -36.07 + 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 10

1000

0

X~ 1 1ui2.448e+04 | 25
= po 4270+ 0.0
- pl -36.83 + 0.00

TP delay [ns]

TVC(cbch) (1,11,14)

T Lo/e+ud /25
- pD 4234+ 0.0
[ p1 -37.23+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (1,11,3)

AT 1L bave+ud [ 25
- po 4227+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (1,11,7

- 1nui4u/e+u4 / 25
- pO 4230+ 0.0
pL -35.93+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

T nuzyrae+u4 [ 25
= pO 4274+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (111,15

T inuip1ze+ud [ 25
e pO 4244+ 0.0
p1 -37.42+ 0.00

TP delay [ns]
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1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

©rnuiLzuve+u4 [ 25
4154+ 0.0
-34.71+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (1, 12 4

= InuiL47be+ud [ 25
== po 4171+ 0.0
pl -35.14 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,12,8

- 1 uizo35e+U4 | 25
- po 4196+ 0.0
p1 -35.56+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 12

T 43e+04 / 25
po 4193+ 0.0
pl -34.87 + 0.00

TP delay [ns]
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1000
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1000

TVC(chh) (1, 12 1)

-1 zdae+ud | 25
== pO 4163+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 5

-1 nuiL439e+04 / 25
- pO 4184+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

[ C=29.17 [ps/ch]

T inai341e+04 /25
= po 4202+ 0.0
p1 -34.28+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 12 13

T nuiLasse+ud [ 25
= pO 4191+ 0.0
pl -35.77 + 0.00

TP delay [ns]
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1000

4000

3000
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1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

X~ 1w 391e+04 / 25
- po 4173+ 0.0
L pl -34.87 + 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 12 6

T il 3y1e+u4 / 25
- pO 4183+ 0.0
L pl -35.27 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

-1 i3 Zobe+Ud | 25
F- pO 4223+ 0.0
L -35.5+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 12 14

S oo zle+u4 [ 25
pD 4207+ 0.0
pl -36.09 + 0.00

TP delay [ns]
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1000

4000
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1000

TVC(Cbch) (1,12,3)

A1 1 dve+ud [ 25
- po 4179+ 0.0
pL -34.41+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 12 7

=1 nui b34e+ud | 25
= po 4197+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(eheh)=(1, 12, 11

-1 nuiz.usze+ud [ 25
= pO 4215+ 0.0
p1 -34.65+ 0.00

TP delay [ns]

TVC(c,b ch) (1,12,15

_ AT aserUd ] 25
- po 4195+ 0.0
p1 -35.14 + 0.00

TP delay [ns]
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1000

4000

TVC(CbCh) (1, 13 0)

T g.83e+04 /25
Faase pO 4204+ 0.0
pl -37.47+ 0.

-37.47 + 0.00

TP delay [ns]

TVC(cbch) (1,134

nu

1./e+04 /25
4210+ 0.0
-35.17 + 0.00

P po
pL
3000 ]
2000~ 7]
1000 C 7]
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (1,13,8)
©1nuz,uyse+ud / 25
4000 [ pD 4195+ 0.0
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1000~ C ] 1000 1 wool- C = 27.22 [ps/ch 7 wool- C = 27.58 [ps/ch ]
I 2 L I - I I -
EY 00 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

T nuiLs33e+u4 / 25 T 4.23e+04 /25 T nu3ge+u4 [ 25 EEALEVX uU4e+u4/25
4000 pO 4244+ 0.0 4000 pO 4258+ 0.0 4000 [, DO 42745 00 4000, p0 4279+ 0.0
Pl -38.24%0.00 pL_ -37.27% 0.00 [ PL_ -37.15% 0.00 Pl -37.48+ 0.00

-1 3000

3000~ 1 3000 -1 3000 .

2000 1 2000 - 2000 : —: 2000 1
1000 - -1 1000 - 1000 : —: 1000 -1
% EY 05— 0 of 0 e o

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T rnuiLplze+u4 [ 25 ~ 1 nuiL poye+ud / 25 T rnuiLplae+ud [ 25 T inan 1 ooe+ud [ 25
4000 [m, pO 4243+ 0.0 4000 pO 4228+ 0.0 4000 PD 4232+ 0.0 4000 o, pO 4236+ 0.0
-34.56 + 0.00 -34.98+ 0.00 I pl -35.06 + 0.00 pl -34.99 + 0.00

- 3000

3000~ _ 3000 - 3000 -1

2000 [~ | 2000 -1 2000 -1 2000

- 1000 [~ - 1000 -1 1000

o C = 28.94 [ps/ch]

PR ISR R B PSS S NS S S |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (2,5,0) TVC(c,b Ch) (2, 5 1) TVC(c,b Ch) (2, 5 2) TVC(c,b Ch) (2,5,3)
K- 1 Zuse 04 ] 25 v ssaerud 25 i sverud ) 25 K- 1 Save+ud | 25
4000 ffe,, po 4213 0.0 4000 fom,, pO 4208+ 0.0 4000 [, pO 4220+ 0.0 4000 o, po 4221+ 0.0
Pl -35.76+ 0.00 pl  -35.31% 0.00 b PL_ -3649:000 Pl -36.670.00

- 3000

3000 -1 3000 -1 3000 1

2000 E 2000 - 2000 B 2000

1000 - 1000

- 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,54 TVC(cbch) (2,55 TVC(cbch) (2,56 TVC(c, bch) (2,57

4000 T rnuiL34/e+04 / 25 4000 =1 nui 488e+04 [ 25 - i 393e+04 / 25 4000 -1 nui 48Ye+04 / 25
= pO 4186+ 0.0 = pO 4197+ 0.0 4000 4201+ 0.0 = pO 4208+ 0.0
pl -36.28 + 0.00 pL -36.87 + 0.00 F -35.9+ 0.0 pL -36.05+ 0.00

3000 1 3000 -1 3000 =1 3000 1

2000 - E 2000 - 2000 - 2000 - E

1000 C — 1000 - 1000~ 1 1000F C —

- - -
1 1 - 1 ™ 1 - 1 1 -
-
0 EY 00 0 50 100 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (2,5,8) TVC(c,b ch) (2,5,9) TVC(c,b, ch) (2,5,10) TVC(c,b ch) (2,5,11)
© 1 nuiL4p1e+u4 / 25 Ty /ze+u4 [ 25 T nuiL b rge+u4 /25 T 44/e+04 1 25
4000 e pO 4213+ 0.0 4000 [ pO 4237+ 0.0 4000 [ DO 4250+ 0.0 4000, p0 4255 0.0
pl -34.44 + 0.00 pl -34.44 + 0.00 F pl -34.94 + 0.00 pl -34.43 + 0.00

3000~

-1 3000 - - 3000 N 3000 - T

2000 [~ -1 2000 - - 2000 N 2000 =

— 1000 C = 29.05 [pS/Ch]

000 C = 29.04 [pS/Ch] . 7 1wl C = 29.04 [pS/Ch] - 1000: 1
: ) > 5 G = 1 I -
0 50 100 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (2, 5 12) TVC(c,b Ch) (2, 5 13) TVC(c,b Ch) (2, 5 14) TVC(c,b Ch) (2, 5 15)
-rnul ss23/25 -1 zoye+ud [ 25 -1 nuiL 152e+04 [ 25 -1 zore+u4 [ 25
4000 e, po 4231+ 0.0 4000 [, 4239+ 0.0 4000 [, pD 4245+ 0.0 4000 fom, pO 423200
pl -34.8+0.0 -33.97+ 0.00 L Pl -34.87+0.00 Pl -34.64+0.00

3000

N 3000 - - 3000 - 3000 -

2000 2000 - 2000 - 2000

- 1000

v C = 29.44 [ps/ch] 7 ] ]
IS(I)Illllc:ol- Illlglﬁlllllﬂlol-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,0

K™ 1 rsve+U4 [ 25
k... PO 4197+ 0.0
p1 -35.24 + 0.00

TP delay [ns]

TVC(cbch) (26,4

- 1 1gse+ud [ 25
Facse po 4259+ 0.0
pl -36.02 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2 6,8

- I51e+04 /25
b pD 42451+ 0.0
p1 -34.67 + 0.00

4000
3000 - 7
2000~ 7]
1000 C = 28.84 [pS/Ch] 7]
H-
| 1
b 50 00
TP delay [ns]
TVC(cbch) (2.6,12)
TinuiLurLe+u4 / 25
4000 = 4226+ 0.0
732.851;‘
3000 [~ 7
2000 7
000 C =30.44 [pS/Ch] - ]
e z

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT 1 nuiLblye+u4 / 25
k.. po 4206+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 i Usbe+u4 / 25
[P, DO 4262+ 0.0
-34.8 % 0.0

[ C =28.73 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (2 6,9

-1 nuiz gbbe+ud / 25
- pO 4263+ 0.0
pl -35.63 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 6 13

T nai z4oe+ud | 25
F 4229+ 0.0
-34.58 + 0.00

[ C =28.92 [ps/ch] ]
H-
b ST

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

TP delay [ns]

TVC(cbch) (26,6

X~ 1L 5/0e+04 [ 25
- po 4213+ 0.0
[ p1 -36.04 £ 0.00

3000

- C = 28.32 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb.oh)=(2, 6, 10

©nuiLusge+u4 / 25
P, pO 4256+ 0.0
N pl -35.31+ 0.00

- 1nuz 114e+04 [ 25
- pO 4290+ 0.0
r 364+ 0.0

TP delay [ns]

TVC(cbch) (2,614

T rse+u4 [ 25
- pD 4232+ 0.0
L pl -35.18+ 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

A~ 1 nuiLbsse+ud [ 25
P po 4219+ 0.0
pL -35.53+ 0.00

[ C=28.14 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (2 6,7

= i Ozze+ud | 25
po 4260+ 0.0
pl -34.77 + 0.00

[ C =28.76 [ps/ch] ]

50 100
TP delay [ns]

TVC(c,b ch) (2, 6

T b/ie+U4/25
- po 4289+ 0.0
p1 -35.76 £ 0.00

TP delay [ns]

TVC(c,b ch) (2, 6 15

- zzae+04 [ 25
F- pO 4242 0.0
p1 -34.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0

A7 nun 1se+ud / 25
P po 4199+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (2,7,4

- i 3z9e+04 / 25
- pO 4186+ 0.0
p1 -34.79:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2,7,8

Tz 1y/e+u4 [ 25
= po 4210+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (2,7,12

~ L, r9pe+u4 / 25
- po 4220+ 0.0
pl -36.46 + 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,71

AL 3a0e+U4 ] 25
e po 4206 % 0.0
pL -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

=1 nuiL 4ube+u4 [ 25
e, pO 4188+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

T nug. zoze+ud [ 25
= pO 4221+ 0.0
p1 -34,66 + 0.00

TP delay [ns]

TVC(C, bch) (2,7,13

T nai ruve+ud / 25
- pO 4211+ 0.0
p1 355+ 0.0

TP delay [ns]

4000

2000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (2,7,2)

1000

A7 1 nui 3o0e+u4 /25
o=, po 4218+ 0.0
L pl -37.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

T4z /e+04 [ 25
e pO 4216+ 0.0
[ pl -35.31¢ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 7, 10

Tz 14ze+04 [ 25
4223+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(cbch) (27,14

~1nuiLg403e+04 / 25
= pD 4218+ 0.0
L p1 -35.89+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

T 1soe+ud [ 25
- pO 4221+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

~nui4/1e+04 / 25
- pO 4212+ 0.0
pL -35.25+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

T a/4e+u4/25
e pO 4241% 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(C, bch) (2,7,15

T nai ruze+ud [ 25
- pO 4227+ 0.0
p1 -36.3+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0

AT inunsrse+04 /25
P s, po 4214+ 0.0
pl -35.24 + 0.00

TP delay [ns]

TVC(cbch) (28,4

= 1 nurLuge+ud / 25
pO 4228+ 0.0
p1 -34.62:+ 0.00

-

[ C =28.88 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2 8,8

© iz 1z9e+04 | 25
po 4230+ 0.0
pl -36.05+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,812

T L4 rse+u4 / 25
= pO 4264+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (2,81

4000 fmr,

3000

2000

1000

x- 1L S14e+04 [ 25
- po 4230+ 0.0
pL -35.94 + 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

4000 -

3000 -

2000

1000 [~

-/ nuiLU13e+u4 / 25
4225+ 0.0
-33.82+ 0.00

C =29.57 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

4000 [

3000

2000

1000

1 nub.p48e+U4 | 25
po 4236+ 0.0
pl -35.29 + 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (2,813

4000 &,

3000

2000

1000

Tinais3/e+ud [ 25
pO 4245+ 0.0
pl -36.18 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

A~ 1 nui zose+u4 / 25
po 4234+ 0.0
pl -35.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (28,6

- nun 188e+04 / 25
- pO 4243+ 0.0
[ pl -34.27 + 0.00

- C = 29.18 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

©nuiLyzoe+u4 | 25
-, po 4253+ 0.0
- pl -34.84 + 0.00

TP delay [ns]

TVC(cbch) (2,8 14

~1nuiLbu4e+04 / 25
F pD 4263+ 0.0
L pl -36.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

AT rnuaiLusze+ud [ 25
o po 4223+ 0.0
pl -33.78 + 0.00

[ C =29.61 [ps/ch] ]
TP delay [ns]

TVC(c,b ch) (2 8,7

-1 nui Zgle+u4 / 25
- pO 4257+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(c,b ch) (2, 8

T b/‘Je+U4/25
po 4276+ 0.0
-35.63+ 0.00

TP delay [ns]

TVC(C, bch) (2,815

T nan 1 oye+ud [ 25
e pO 4272+ 0.0
pl -37.38+ 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0

A /-uu.we+u4/25
P po 4156+ 0.0
pl -35.13+ 0.00

50 100

TP delay [ns]

TVC(cbch) (2,94

- i bz8e+u4 [ 25
- pO 4201% 0.0
p1 -37.34+ 0.00

TP delay [ns]

TVC(cbch) (2 9,8

Trnug.zs1e+u4 / 25
- pO 4204+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2,9,12

T 41e+04 /25
= po 4201+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

A1 L 5ase+U4 | 25
' po 4170+ 0.0
pL -37.13+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

=11 bbbe+u4 / 25
pO 4206+ 0.0
pL -37.93+ 0.00

(LA
50 100
TP delay [ns]

TVC(c,b ch) (2 9,9

T 1 nup.b4ze+04 [ 25
po 4217+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(C, bch) (2,9,13

T nai ozve+ud [ 25
pO 4196+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,9,2)

K™ 1 nui449e+04 /25
- po 4177+ 0.0
L pl -35.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

- rnun bzze+u4 [ 25
- pO 4200+ 0.0
[ pl -36.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 9 10

Tz 3rge+u4 | 25
= po 4237+ 0.0
- pl -35.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

T 1L p34e+u4 [ 25
= pD 4206+ 0.0
F pl -36.92+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

AL dLiesud | 25
po=s, po 4161+ 0.0
p1 -34.8+ 0.0

TP delay [ns]

TVC(c,b ch) (2 9,7

- nui grge+u4 / 25
- pO 4229+ 0.0
pL -37.95+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 9

EEALEVX ume+u4/25
e pO 4234+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(C, bch) (2,9,15

T inuiblae+ud [ 25
- pO 4201+ 0.0
p1 -36.17 + 0.00

TP delay [ns]



TVC(CbCh) (2, 10 0)

4000 [,

e, pO

© i zope+u4 [ 25
4165+ 0.0
-35.8+ 0.0

pl

3000

2000

1000

TP delay [ns]

TVC(cbch) (2,104

4000 [

- i 3bze+04 / 25
4195+ 0.0
-35.05+ 0.00

', PO
pL
3000 [~ ]
2000 - 7
10001~ C ]
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 10 8)
T nu 5z3e+u4 [ 25
4000 e pD 4218+ 0.0
p1 -36.16 + 0.00

3000

2000

1000

o 1

1
0 50 100

TP delay [ns]

TVC(cbch) (2,10, 12

r4re+U4 /25
4237+ 0.0
-35.49+ 0.00

A1,

4000 0

p1

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

9219 /25
4166+ 0.0
-34.62 + 0.00

A

. PO

p1

TP delay [ns]

TVC(c, bch) (2,105

- nui4z1e+04 / 25
4195+ 0.0
-34.37 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

-1 nu.ygle+ud / 25
4242+ 0.0
-35.53 + 0.00

TP delay [ns]

TVC(cbch) (210,13

T nuipble+ud / 25
4232+ 0.0
-36.24+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

K™ 1 nuiL4oye+04 / 25

-, po 4191+ 0.0
L p1 -36.65+ 0.00

TP delay [ns]

TVC(cbch) (2.10,6

-1 nur bbze+u4 [ 25
- pO 4228+ 0.0
[ pl -35.88+ 0.00

TP delay [ns]

TVC(cbch) (2,10, 10

T, fo3e+04 / 25
-, po 4273+ 0.0
- pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (2.10,14

~ 1L p4ze+u4 | 25
F-. pD 4234+ 0.0
L pl -35.54 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

S T 4523125
o=, pO 4192+ 0.0
pL -35.95+ 0.00

TP delay [ns]

TVC(c, bch) (2,10,7

-1 nui bbye+u4 / 25
- pO 4225+ 0.0
pL -35.73+ 0.00

[ C=27.99 [ps/ch ]
5-
se i

TP delay [ns]

TVC(eh.ch)=(2,10, 11

Tinuzzs/e+ud [ 25
- po 4277+ 0.0
pl -37.32+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (210,15

<1 nuiLavoe+ud / 25
F=. 4229+ 0.0
-34.46 + 0.00

[ C =29.02 [ps/ch] ]
P R R |-.'

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

e, po

A7 1 nui soae+u4 / 25
4174+ 0.0
pl -35.46 + 0.00

TVC(Cbch) (2, 11 1)

4000 [

3000

2000

1000

pO

“ a1 4ne+ud [ 25
4189+ 0.0
-36.01+ 0.00

p1

TP delay [ns]

TVC(cbch) (2,11,4

T rnuiLzy1e+u4 / 25
e pO 4186+ 0.0
p1 -34.65+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 11,8

1 nuiLbybe+u4 / 25
= pO 4211+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(cbch) (2,11, 12

X1 pzie+u4 /25
= po 4232+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TP delay [ns]

TVC(cbch) (2,11,5

4000 S

3000 |-

2000

1000 [~

~nui4/1e+04 / 25
pO 4193+ 0.0
p1 -35.54+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(2, 11, 9

4000 [

3000

2000

1000

-1 nug syve+ud / 25
po 4230+ 0.0
pl -35.86 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (211,13

4000 [

3000 -

2000

1000 [~

Tinuibize+ud [ 25
pO 4231% 0.0
p1 -35.2+ 0.0

ﬁ-
M L -
50 100
TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (2, 11 2)

= P°

~1nuiLbuve+ud / 25
4198+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (2,11,6

- 311e+04 / 25
e pO 4202+ 0.0
[ pl -35.72+ 0.00

TP delay [ns]

TVC(e.b.ch)=(2, 11, 10

T nuiLyrge+u4 | 25
- po 4242+ 0.0
- pl -34.83 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,11, 14
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- po 4265+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

TinuiLpl/e+ud /25
= pO 4233+ 0.0
p1 -35.23+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0)

T Love+ud /25
4187+ 0.0
pl -35.66 + 0.00

TP delay

TVC(cbch) (3,34

[ns]

T zse+u4 [ 25
4209+ 0.0
-34.19 + 0.00

= pO
pl
[ C=29.25[ps/ch]™,_ 1
% i
TP delay [ns]
TVC(cbch) (3 3,8) —
- 1nun ysse+ud 5
- po 4211:‘
pl -35.16 + 0.00

TP delay

TVC(cbch) (3,312

[ns]

T zie+u4 /25
4229+ 0.0
pl -35.79+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,3,1)

- PO

A1 L Save+U4 | 25
4195+ 0.0
-36.48+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 3,5

F- pO

=1 nui 4uBe+u4 / 25
4221+ 0.0
-35.28 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

T inun.lble+ud / 25
4219+ 0.0
-34.66 + 0.00

TP delay [ns]

TVC(C, bch) (3,313

T nuisble+ud / 25
4231+ 0.0
-35.88 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,3,2)

P PO

K™ 1 nuioyye+ud / 25
4211+ 0.0
pl -35.92+ 0.00

TP delay

TVC(cbch) (33,6

- P°

[ns]

- rnuLb1ze+04 [ 25
4230+ 0.0
-35.5+ 0.0

TP delay

TVC(cbch) (3, 3 10

- o

[ns]

T nuzbule+ud [ 25
4248+ 0.0
pl -35.55+ 0.00

TP delay

TVC(cbch) (3,314

[ns]

T rnuiLslie+ud /25
4214+ 0.0
pl -35.84 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3)

po
pL

AT 1L 4sse+ud [ 25
4211+ 0.0
-34.53+ 0.00

TVC(c,b ch) (3 3,7

pO
pl

1
100

TP delay [ns]

~nui4/1e+04 / 25
4247+ 0.0
-34.57 + 0.00

[ C =28.93 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (3, 3

. pO

EEALEVX uuue+u4/25
4248+ 0.0
-36.54 + 0.00

pl

TP delay [ns]

TVC(C, bch) (3,315

T nui oy /e+ud [ 25
4236+ 0.0
-36.41+ 0.00

1
100

TP delay [ns]



TVC(cbch)(340) TVC(cbch)(34l) TVC(cbch)(342) TVC(cbch)(343)
A~ 1L bble+ud / 25 “rnun g ple+ud /25 A~ 11w bioe+ud [ 25 A~ 1w bzoe+ud | 25
4000 e PO 4191+ 0.0 4000 = po 4188+ 0.0 4000 ._- po 4185+ 0.0 4000 e, po 4204+ 0.0
pl -36.64 + 0.00 pl -36.18 + 0.00 : pl -35.74+ 0.00 pl -36.79+ 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (34,4 TVC(cbch) (3.4, TVC(cbch) (34,6 TVC(c, bch) (3.4,

T :?tsoeﬂjd 125 Trnur 2/4&*04/25 Srna 1)b4e+U4 125 Tonarg 23/E+04/25
4000 fm, pO 4226+ 0.0 4000 pO 4231 0.0 4000 [, pO 4239+ 0.0 4000 e, pO 4246+ 0.0
Pl -36.02: 0.00 Pl 36,68+ 0.00 L PL_ -37.36% 0.00 Pl 3592+ 0.00
3000 - 3000 E 3000 E 3000 [ —
2000 — 2000 E 2000 . 2000 —
1000 C ] 1000 - woo- C = 26.77 [ps/c ] w00 C = 27.84 [ps/ch ]
I 2 L I I ™ I -
EY 00 0 0 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(3,4,8) TVC(e.e=(3,4,9) TVC(eb.ch=(3, 4, 10) TVC(ebe)=(3, 4, 11)
T nuzyige+ud / 25 <1 nu, Ubbe+u4 [ 25 ~ 1, (Uge+u4 / 25 T 1yze+u4 [ 25
4000 pO 4209+ 0.0 4000 pO 4228+ 00 4000 DO 4238+ 00 4000 p0 4243+ 00
3431+ 0.00 Pl -34.85:0.00 b PL_ -35.74%0.00 Pl -34.91: 0.00

- 3000

3000~ -1 3000 T 3000 .

2000 | E 2000 - 2000 - 2000

- 1000

- 1000 1000

oo C = 29.14 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,4,12 TVC(C, bch) (3,4,13 TVC(cbch) (34,14 TVC(C, bch) (34,15

1L py4e+u4 [ 25 4000 T nai guse+ud / 25 4000 T rnuiLgue+u4 [ 25 4000 T nui pbae+ud [ 25
4000 e pO 4234+ 0.0 = PO 4221+ 0.0 ™ PD 4220+ 0.0 = pO 4223+ 0.0
pl -36.4+ 0.0 pl -37.2+ 0.0 r pl -36.82+ 0.00 pl -36.05+ 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 N 2000

1000 -1 1000 -1 1000 -1 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

AT nun ssze+04 /25
Frcea. po 4200+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (3,54

= 1L bube+u4 / 25
. pO 4212+ 0.0
pl -35.35+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

T g, 3oze+u4 [ 25
- po 4238+ 0.0
pl -34.93 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

T L4y re+u4 [ 25
4292+ 0.0
-36.34 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT 1L sbse+ud [ 25
I e po 4226+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

-1 nui bzye+u4 [ 25
=3 4202+ 0.0
-34.67 + 0.00

[ C =28.84 [ps/ch] ]
% o
TP delay [ns]

TVC(c,b ch) (3 59

T nug. yise+ud / 25
- po 4267+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(C, bch) (3,5,13

1 nuiL oboe+ud / 25
pO 4280+ 0.0
pl -36.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

A7 1 nui Sooe+u4 / 25
_l po 4231+ 0.0
- pl -35.87 + 0.00

- bz3e+04 [ 25
- pO 4206+ 0.0
[ pl -34.37 + 0.00

- C = 29.10 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

T 1nuizpy/e+ud | 25
- po 4282+ 0.0
L pl -34.89 + 0.00

- C = 28.66 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T Lole+ud /25
pD 4280+ 0.0
pl -36.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3)

A”rnun 1 pe+u4 /25
s, po 4239+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui 448e+04 / 25
- pO 4218+ 0.0
p1 -34.34+ 0.00

[ C =29.12 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

EEALEVX u41e+u4/25
- po 4287+ 0.0
-35+ 0.0

I C =28.57 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T nuiploe+ud / 25
- pO 4293+ 0.0
p1 -36.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0)

A7 nuia43e+04 /25
4174+ 0.0
-34.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (36,4

T rnuiLa3/e+u4 [ 25
- pO 4238+ 0.0
pl -36.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

©1nuig.4o0e+04 / 25
- po 4227+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

~ 1L pose+ud / 25
= po 4220+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

AT 1 suse+ud [ 25
- po 4185+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

~1nuiL4/5e+04 [ 25
- pO 4254+ 0.0
p1 -37.46+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nun. yr3e+ud [ 25
- pO 4254+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

Tinui s33e+ud / 25
pO 4231% 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (3,6,2)

K™ 1 nui4s0e+04 /25
=, po 4201+ 0.0
L pl -35.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

T b4 /e+04 [ 25
- pO 4256+ 0.0
[ pl -36.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

T nuz431e+u4 /25
= po 4248+ 0.0
- pl -35.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

~ 1 nuiL4spe+u4 / 25
pD 4244+ 0.0
-36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1 nuiLoble+ud [ 25
- po 4191+ 0.0
pl -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nui bbre+u4 / 25
- pO 4259+ 0.0
pL -37.81% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

EEALEVX uuue+u4/25
= po 4263+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T inui s oe+ud [ 25
4237+ 0.0
-35.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

A7 1nun 3sye+u4 /25
.. po 4194+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (3,7,

- i 349e+04 / 25
e, pO 4203+ 0.0
p1 -35.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T z.4ze+04 /25
= po 4210+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

©rnuiLgope+u4 [ 25
pO 4223+ 0.0
pl -34.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT rmuzrie+ud [ 25
P, po 4198+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui4yze+u4 [ 25
e, pO 4192+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

~ 1 naig.azoe+ud [ 25
po 4237+ 0.0
p1 -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

Tinaisr1e+ud /25
- pO 4207+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

AT 1nui418e+04 /25
_- po 4214+ 0.0
o pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

-1 nuiL459e+04 [ 25
- pO 4210 0.0
3 pl -35.84+ 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

T z43e+04 /25
= po 4252+ 0.0
- pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (37,14

~ i 1o0e+U4 / 25
F pD 4207+ 0.0
L p1 -34.38+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT 1L 4ove+ud [ 25
=3 po 4214+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

- rnu b3/e+04 / 25
- pO 4224+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

T, 1/::e+u4/25
4251+ 0.0
-36.9 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,7,15

T nai soze+u4 [ 25
- pO 4214+ 0.0
p1 -35.39+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

X~ 1w 419e+04 /25
PO 4216+ 0.0
pl -37.28+ 0.00

TP delay [ns]

TVC(cbch) (38,4

- i 38ze+04 / 25
pO 4220+ 0.0
-35.3+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3 8,8

1. zuve+u4 [ 25
PD 4246+ 0.0
pl -38.16 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,812

~ 1 nuiL oose+ud / 25
PO 4236+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

A1 4yze+ud [ 25
- PO 4195 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

Snun137e+04 /25
DU 4208+ 0.0
pL -35.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 8,9

- nuig19ve+ud / 25
DO 4262+ 0.0
-37.5+ 0.0

TP delay [ns]

TVC(C, bch) (3,8,13

T 1 45e+04 /25
PO 4232+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (3,82)

X~ 1w sole+U4 /25
- po 4197 0.0
r pl -35.89+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

1000

- i 393e+04 / 25
- pO 4216+ 0.0
I pl -35.19:+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

1000

0

T rnug13e+u4 /25
- DO 4269+ 0.0
I pl -37.88 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,814

TnuiLgrse+ud [ 25
- PD 4230+ 0.0
F pl -36.33 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3)

A~ IuiLbLIe+ud | 25
- PO 4228+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

- nui by /e+u4 [ 25
- PO 4237+ 0.0
Pl -36.08+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

S z/ue+u4/25
F= p0 4272+ 0.0
pL -37.98+ 0.00

TP delay [ns]

TVC(C, bch) (38,15

~ 1 aqye+u4 [ 25
- pO 4239+ 00
pl -35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(cbch) (3,9,0

X~ 1 syre+U4 /25
[, po 4212+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (39,4

4000

3000

2000

1000

TVC(cbch) (3,91

x- 1 L dove+ud | 25
[ PO 4229+ 0.0
pL -35.96 & 0.00

TP delay [ns]

TVC(c,b ch) (3 9,5

4000

2000

1000

TVC(cbch) (3,9,2)

TP delay [ns]

TVC(cbch) (39,6

- aserud | 25
™= PO 4228+ 0.0
F pl -35.7 £ 0.0

3000

4000

3000

2000

1000

TVC(cbch) (3,9,3

AT 1 nuiL419e+u4 [ 25
- po 4227+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(c,b ch) (3 9,7

4000 [

T Ui 339e+04 / 25 ~nurL473e+04 /25 =1 nuiL byse+u4 [ 25 “ o bhre+Ud [ 25
pO 4206+ 0.0 4000 Fem, pO 4213+ 0.0 4000 e, pO 4228+ 0.0 4000 fas pO 4239+ 0.0
349+ 0.0 Pl -35.95: 000 [ PL_ -35.84% 0.00 Pl 3497000

3000 ] 3000 B a000f- ] 3000 | 1
2000 ] 2000 B 2000 — ‘ 2000 1
1000 1 1000 B woor C = 27.90 [ps/ch ] 1o00r C = 28.60 [ps/ch] 7]
1 1 - - I I - | -
50 T00 50 T00 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
Tz ryre+u4 | 25 ~ 1 nai 340e+04 / 25 ©1nuizyzve+ud | 25 T nuzsy/e+ud [ 25

pO 4214+ 0.0 4000 pO 4226+ 0.0 4000 fom DO 4247+ 0.0 4000 o, p0 4254+ 0.0

pl -34.84 + 0.00 pl -35.41+ 0.00 F pl -34.83 + 0.00 pl -35.86 + 0.00

-1 3000

4000 B

3000 N 3000 - 3000 1

2000 1 2000 2000 ] 2000

1000 ] 1000 1000F 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(C, bch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

T, rs4e+04 / 25 Tinan 1 oze+ud [ 25 T rz1e+04 /25 Tonan L /3e+ud [ 25
4000 e, pO 4267+ 0.0 4000 [, pO 4245+ 0.0 4000 o, PD 4252+ 00 4000 o, pO 4245 0.0
pl -36.41+ 0.00 pl -36.57 + 0.00 F pl -37.69 + 0.00 pl -36.83 + 0.00

- 3000

3000 .

— 3000 - 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (3,10,0) TVC(cbch) (3,10,1) TVC(cbch) (3,10,2) TVC(cbch) (3,10,3)
“ i 41ve+u4 / 25 AL z3re+ud | 25 AT 1L s84e+04 [ 25 A1 zyze+ud | 25
4000 - PO 4216+ 0.0 4000 - po 4218+ 0.0 4000 __- po 4216+ 0.0 4000 e, po 4216+ 0.0
pl -36.82+ 0.00 pl -37.75+ 0.00 : pl -37.24+ 0.00 pl -35.87 + 0.00

-1 3000

3000 - 3000 -1 3000 -

2000 1 2000 -1 2000 -1 2000

1000 — 1000 - 1000 - 1000

TP delay [ns]

TVC(cbch) (3,10,4

TP delay [ns]

TVC(c, bch) (3,10,5

TP delay [ns]

TVC(cbch) (3,10,6

TP delay [ns]

TVC(c, bch) (3,10,7

4000 o

= 1 nur boye+ud [ 25 - 11 bage+u4 | 25
PO 4222+ 0.0 4000 PU 4230+ 0.0
pl -36.51+ 0.00 pl -37.82+ 0.00

=1 3000

T rnuiLay/e+ud [ 25 -1 nui48/e+04 [ 25
pO 4203+ 0.0 4000 e, pO 4210+ 0.0 4000
pl -36.69 + 0.00 pL -36.65+ 0.00 3

- 3000

3000 =1 3000

2000~ E 2000 E 2000 E 2000

1000 [~ C -1 1000 -1 1000 -1 1000 [~ C

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b, Ch) (3, 10 8) TVC(c,b Ch) (3, 10 ) TVC(c,b Ch) (3, 10 10) TVC(c,b Ch) (3, 10 11)
©nuiLsU1e+u4 / 25 T g 204e+04 1 25 T, (19e+04 / 25 T bbe+u4 /25

pO 4248+ 0.0 4000 e, pO 4261+ 00 4000 [, DO 42745 00 4000 foe, p0 4272+ 0.0

Pl -36.81% 0.00 pL_ -36.48+ 0.00 [ PL_ -36.96% 0.00 Pl 3583+ 0.00

-1 3000

4000 .

3000 -1 3000 -1 3000 -1

2000 N 2000

-1 2000 - 2000

1000 -1 1000

- 1000 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,10,12)
o
pl -34.85+ 0.00

3000

TVC(c,b ch) (3.10,13) TVC(c,b ch) (3.10,14) TVC(c,b ch) (3,10,15)
T nuibyse+ud / 25 T 1ooe+ud /25 T nui vbze+ud [ 25
4232+ 0.0 4000 o, PD 4234+ 0.0 4000 B po 4222+ 0.0
-34.21+ 0.00 F pl -35.07 + 0.00 pl -35.45+ 0.00

- 3000

1 3000 — 3000

2000 2000 ] 2000 - 2000

1000 - 1000

wof C = 20.24 [ps/ch] ™, !

PR BRSNS |
50 100

TP delay [ns]

TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)

A7 1 nui zoye+ud [ 25
P po 4184+ 0.0
pl -36.65+ 0.00

TP delay [ns]

TVC(cbch) (3,11,4

-1 nung 385e+04 / 25
4167+ 0.0
-35.2+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (3, 11 8

T 4.00e+04 / 25
= po 4235+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (3,11, 12

X~ 11 a88e+04 / 25
po 4215+ 0.0
p1 -35.3+ 0.0

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (3, 11 1)

Tonun 13e+u4 /25
pee,, pO 4189+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (3,11,5

-1 nui4z3e+04 [ 25
= 4173+ 0.0
-33.27 + 0.00

[ C =30.06 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(eh.eh)=(3, 11, 9

~ 1 nuy.pz4e+04 / 25
= po 4250+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (311,13

T inai syse+ud / 25
pO 4199+ 0.0
pl -34.98 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (3,11, 2)

AT 1nuigr3e+04 /25
- po 4187+ 0.0
L p1 -36.24 + 0.00

3000

TP delay [ns]

TVC(cbch) (3116

-1 i z248e+04 [ 25
- pO 4197+ 0.0
3 pl -34.94 + 0.00

TP delay [ns]

TVC(cbch) (3,11, 10

X~ 11z bpge+u4 [ 25
- po 4242+ 0.0
L pl -34.52+ 0.00

- C = 28.97 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,11, 14

— X~ 1 zode+04 [ 25
-, po 4193+ 0.0
L pl -345+ 0.0

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,11,3)

AT rnuiLsrse+ud [ 25
- po 4192+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (3,11,7

— - nun 1 p8e+ud [ 25
4182+ 0.0
-34.4 % 0.0

TP delay [ns]

TVC(Ebeh=(3, 11, 11

T nuiz.uzoe+ud / 25
po 4264+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (311,15

Tinuiso/e+ud [ 25
- pO 4204+ 0.0
p1 35+ 0.0

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,0)

T Laze+ud /25
pO 4178+ 0.0
p1 -34.98 + 0.00

TP delay [ns]

TVC(cbch) (40,4

- 1L agse+ud [ 25
po 4197+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (4 0,8

- J1se+0d | 25
po 4198+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(cbch) (4,0,12

[ C =29.45 [ps/ch]

-1 slze+u4 [ 25
po 4203+ 0.0
p1 -33.96+ 0.00

50

1
100

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,01

AL azserud | 25
F.. po 4175+ 0.0
pL -35.14 £ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,5

1 nuiLag e+ud [ 25
== po 4202+ 0.0
pl -35.41+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (4 0,9

-1 nug ygse+ud / 25
4223+ 0.0
-35.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (4, O 13

T inuiplse+ud / 25
= pO 4197+ 0.0
p1 -32.9+ 0.0

[ C =30.40 [ps/ch] ™. ]
o -'-
TP delay [ns]

TVC(cbch) (4,0,2)

4000

2000

1000

TP delay [ns]

TVC(cbch) (4,0,6

4000

3000

2000

1000

X~ 1L 458e+04 [ 25
- po 4184+ 0.0
L pl -35.27 + 0.00

3000

-1 bb4e+04 [ 25
- pO 4202+ 0.0
[ pl -35.58+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 0, 10

4000

3000

2000

1000

© 1 nuig.4zve+u4 [ 25
po 4224+ 0.0
p1 -33.74 + 0.00

- C = 29.64 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (4,0,14

4000

3000

2000

1000

- 1 nuiL pobe+u4 / 25
4210+ 0.0
-33.29.+ 0.00

- C =30.04 [psich] ™. 1
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50 100

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,0,3

A~ 1 nuiL33Ye+ud [ 25
- po 4198+ 0.0
pL -34.59+ 0.00

TP delay [ns]

TVC(c,b ch) (4 0,7

-1 1bae+ud /25
- pO 4226+ 0.0
p1 -35.92:+ 0.00

50 160
TP delay [ns]

TVC(cbch) (4, O 11

T naigziie+ud [ 25
= pO 4235+ 0.0
p1 -34.44 + 0,00

[ C =29.03 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (4, O 15

T nuiasse+ud [ 25
= pO 4195+ 0.0
p1 -32.72+ 0.00

[ C=30.57 [ps/ch] ™ 1
gl =
TP delay [ns]
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1000
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2000

1000

4000
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2000

1000

TVC(cbch) (4,1,0)

T L4se+ud /25
4185+ 0.0
-36.88+ 0.00

TP delay [ns]

TVC(cbch) (4.1,4

-1 nuLyuze+ud / 25
4180 0.0
-35.9+ 0.0

1
50 100

TP delay [ns]

TVC(eb,oh)=(4, 1,8

Tz pe+u4 | 25
4207+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(cbch) (41,12

b, po
p1

Tz n/e+u4 /25
4195+ 0.0
-34.82+ 0.00

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,1)

Ao,

Frcee po

p1

rooe+u4 [ 25
4165+ 0.0
-36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (4 1,5

- nuiL gr3e+u4 / 25
4188+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (4,1,9

X

== po
pl

4.8e+04 /25
4208+ 0.0
-34.64+ 0.00

TP delay [ns]

TVC(C, bch) (41,13

- pO
p1

~ 1 nuiz.usye+ud / 25
4193+ 0.0
-35.4+ 0.0

TP delay [ns]
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2000

1000
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3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (4,1,2)

r23e+U4 125
4183+ 0.0
-36.85+ 0.00

A1,

Foeee, po

pl

TP delay [ns]

TVC(cbch) (41,6

pO
p1

T rnuz0L/e+u4 [ 25
4191+ 0.0
-35.62 + 0.00

TP delay [ns]

TVC(cbch) (41,10

- o

T 1nuguLse+u4 / 25
4244+ 0.0
-35.15+ 0.00

pl

TP delay [ns]

TVC(cbch) (41,14

= DD
L p1

Tz s1ie+u4 [ 25
4207+ 0.0
-36.06 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,1,3)

E po

pl

AT 1L rsse+ud [ 25
4202+ 0.0
-36.73+ 0.00

TVC(c,b ch) (4 1,7

b=, pO
pl

1
100

TP delay [ns]

-1 nui ygle+ud / 25
4199+ 0.0
-35.86 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (4, 1

T nuiz 1bbe+ud / 25

1)
4236+ 0.0
-33.79+ 0.00

[ C =29.60 [ps/ch]

_L
50

1
100

TP delay [ns]

TVC(C, bch) (41,15

T nuiz 140e+04 / 25
4207+ 0.0
-35.47 + 0.00

TP delay [ns]



TVC(ehe)=(4,2,0) TVCEebe)=(4,2,1) TVC(ehe)=(4,2,2) TVC(ebe)=(4,2,3)
AT 1L /1be+u4 / 25 A~ 1w r1ye+ud | 25 A™ 1L ryse+u4 [ 25 “rnuanpB1e+ud [ 25
000, po 4207+ 0.0 400, po 4206 0.0 4000w, PO 4235+ 0.0 4000 PO 4223+ 00
Pl -35.251 0.00 Pl -34.75: 0.00 [ Pl -35.84+ 0.00 Pl -34.19 0.00

-1 3000

3000 1 3000 |- __ 3000 1

2000 ] 2000 [ B 2000 : _: 2000 [ B
] .

e 1 wop C =28.78 [ps/ch]N,_ ] ] wol C = 29.25 [ps/ch]™ ]

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,24 TVC(cbch) (42, TVC(cbch) (4,2,6 TVC(c, bch) (42,

“ g u)lbeﬂJA 125 “narg, /)/1&+U4/25 “ g 5)4$e+U4 125 T rnar B)ZLEH)4/25
4000 pO 4199+ 0.0 4000 =, pO 4208+ 0.0 4000 = 4215+ 0.0 4000 fes pO 4226+ 0.0
Pl 34153 0.00 p1 -33.1£ 00 L -33.91 0.00 Pl -34.52% 0.00

3000} 4 3000 i 3000 ] 3000 ]

2000 - - 2000 n 2000 [ ] 2000 - N

[ .
g ] L 1 1000+ = 1
1o C =29.28 [ps/ch] ™, ok ¢ = 30.22 [ps/ch] Y- 1 wol C = 29.49 [ps/ch] ™, ] C =28.97 [ps/ch] -
1 1 - 1 1 - [ 1 1 - i 1 1 -
50 100 50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (4 2,8) TVC(c,b Ch) (4 2,9) TVC(c,b, Ch) (4, 2 10) TVC(c,b Ch) (4, 2 11)
© 1 nug,ubse+ud / 25 Ty 313e+u4 /25 ~ 1 a2 boge+ud / 25 T y1ie+ud [ 25
4000 [, pO 4233+ 0.0 4000 fae, pO 4256+ 0.0 4000 fome, DO 4265+ 0.0 4000 [ p0 4264+ 0.0
Pl -36.04: 0.00 Pl -35.66% 0.00 [ PL_ -3559: 0.00 Pl 3536+ 0.00

3000

7 3000 - 3000 - 3000

2000 7 2000 B 2000 - 2000

1000 1000 B 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,212 TVC(C, bch) (4,213 TVC(cbch) (42,1 TVC(C, bch) (4,215

LA \J):;ewA 125 T nug U2:19+\)4125 - AL u)::eﬂm 125 Trnun g, 1)4e+\)4/25
4000 k=, PO 4223+ 0.0 4000 4224+ 0.0 4000 - PD 4207+ 0.0 4000 B, 4220+ 0.0
pl -34.93 + 0.00 -34.1+ 0.0 F pl -34.27 + 0.00 -34.54 + 0.00

3000 . 3000 - 3000~ -1 3000 = -1

2000 e 2000 | 2000 ] 2000 —

1000 B o n [ — ] - _ -

woor C = 29.32 [ps/ch] ™, 10r C =29.18 [ps/ch]™,_ 7] 10or C = 28.95 [ps/ch]™,_
- + - -
1 1 " | 1 -] 1 1 "
T e e T T, T

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,0

A7 1 nuiouye+ud / 25
P po 4178+ 0.0
pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (4,34

Tz 391e+u4 / 25
E pO 4197+ 0.0
p1 -35.84+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 3,8

i boze+u4 [ 25
= po 4207+ 0.0
-34.31+ 0.00

[ C =29.15 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,312

T g s re+u4 /25
4246+ 0.0
-35.91+ 0.00
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50 100

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,31

AT 1nuiLro/e+u4 [ 25
1 s po 4183+ 0.0
pl -34.91+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 3,5

-1 nu 130e+04 / 25
E pO 4208+ 0.0
pL -36.75+ 0.00

TP delay [ns]

TVC(c,b ch) (4 3,9

Tonan3o/e+u4 [ 25
4207+ 0.0
-33.3+ 0.0

[ C=30.03 [ps/ch] ™. ]

1
50 100

TP delay [ns]

TVC(C, bch) (4,3,13

T inugzzse+ud [ 25
= pO 4231+ 0.0
pl -36.28 + 0.00

TP delay [ns]
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1000
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2000

1000

4000

2000

1000

TVC(cbch) (4,3,2)

AT 1nuLsyre+ud /25
Funse. po 4202+ 0.0
L pl -35.55+ 0.00

3000

TP delay [ns]

TVC(cbch) (43,6

-1 nuz,0use+ud / 25
- pO 4220+ 0.0
[ pl -35.59+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 3 10

©1nuiLgl4e+u4 / 25
- po 4240+ 0.0
- pl -34.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,3 14

T 1nug.gzze+04 [ 25
F-. pD 4229+ 0.0
L pl -35.69+ 0.00

3000

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,33

AT 1L rs1e+ud [ 25
po 4204+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

“nulb/e+u4 /25
- pO 4243+ 0.0
p1 -36.64 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 3

T, ///e+u4/25
4252+ 0.0
-34.6 £ 0.0

I C =28.90 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (43,15

T nug.ysoe+ud / 25
= po 4240+ 0.0
p1 -35.24 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,4,0)

T se+ud /25
P pO 4179+ 0.0
p1 -34.61+ 0.00

TP delay [ns]

TVC(cbch) (4.4,4

- i 1b4e+04 / 25
e, pO 4192+ 0.0
p1 -34.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(eb.ch)=(4, 4,8

1 nuiz,0yge+u4 | 25
= po 4210+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (44,12

1L 5Ype+u4 / 25
== po 4203+ 0.0
pl -35.22+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,4,1

x- 1 Joae+ud /25
Foe. po 4171% 0.0
pL -33.74+ 0.00

[ C =29.64 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (4 4,5

- nun Z3ze+u4 [ 25
e, pO 4200+ 0.0
pL -35.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,9

Tinugyl/e+ud [ 25
pO 4247+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (44,13

T inaiazze+ud [ 25
- pO 4211+ 0.0
pl -35.74 + 0.00

TP delay [ns]
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1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,4,2)

A7 1nuizuse+u4 /25
P po 4182+ 0.0
L pl -35.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (44,6

S rnuan11ye+ud [ 25
- pO 4221 0.0
[ pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (44,10

Tz z3pe+ud | 25
F po 4247+ 0.0
- pl -35.38 + 0.00

TP delay [ns]

TVC(Cbch) (4, 4 14

T o1e+ud /25
= pD 4205+ 0.0
L pl -34.8+ 0.0

TP delay [ns]
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1000
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1000

TVC(cbch) (4,4,3

A i iaaerud | 25
- po 4195+ 0.0
pL -34.54+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

-1 nui 1ype+u4 / 25
- pO 4216+ 0.0
pL -35.01% 0.00

TP delay [ns]

TVC(c,b ch) (4, 4

1)
- nui pgle+ud / 25
= pO 4264+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(C, bch) (44,15

T nui sy1e+ud [ 25
= pO 4205+ 0.0
-35.01+ 0.00

TP delay [ns]
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1000

0

4000
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2000

1000

TVC(cbch) (4,5,0

K™ 1nuitole+u4 /25
. po 4184+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(cbch) (4,54

- b1ze+04 / 25
e pO 4183+ 0.0
pl -36.16+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 5,8

T, r52e+04 | 25
- po 4222+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (4,5,12

T rnuiLgr4e+04 /25
= po 4225+ 0.0
pl -35.87 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,51

x- 1 L2 rae+U4 | 25
.. po 4204+ 0.0
pL -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (4 55

-1 nui bzle+u4d / 25
e, pO 4190+ 0.0
pL -36.27+ 0.00

TP delay [ns]

TVC(c,b ch) (4 59

Tinug1y/e+ud [ 25
- pO 4241% 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(C, bch) (4,5,13

T inuiLasse+ud [ 25
- pO 4222+ 0.0
pl -36.44 + 0.00

TP delay [ns]
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1000
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2000

1000

4000

2000

1000

TVC(cbch) (4,5,2)

A~ 1nuizore+V4 /25
-, po 4186+ 0.0
- pl -36.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

-1 nuib4ze+04 [ 25
4185+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(cbch) (4, 5 10

1 nuiLgz9e+U4 | 25
= po 4234+ 0.0
I pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,5,14

~ 1L pzae+u4 | 25
- pD 4232+ 0.0
[ p1 -36.62+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3

AT 1L 4ose+ud [ 25
- po 4212+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(c,b ch) (4 57

-1 nui byye+u4 / 25
e, pO 4217+ 0.0
pL -37.17+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (4, 5

T 4bue+u4/25
e pO 4245+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(C, bch) (4,5,15

T inuibive+ud [ 25
- po 4225+ 0.0
p1 -35.84+ 0.00

TP delay [ns]



TVC(cbch)(460) TVC(cbch)(461) TVC(cbch)(462) TVC(cbch)(463)
A” 1L 415e+04 /25 AT 38ze+ud | 25 A™ i 5z8e+u4 [ 25 A1 size+ud | 25
4000 [Fowe, PO 4180+ 0.0 4000 P po 4173+ 0.0 4000 _=- po 4192+ 0.0 4000 [ po 4200+ 0.0
pl -34.84 + 0.00 pl -34.47 + 0.00 F pl -34.5+ 0.0 pl -34.89 + 0.00

- 3000

3000 E 3000 [ - 3000 B

2000 4 2000 [ - 2000 - - 2000

1000 ] wor C = 29.01 [ps/ch] ] wof C = 28.99 [ps/ch] ]
% e : o ] % 4
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (46,4 TVC(cbch) (46, TVC(cbch) (46,6 TVC(c, bch) (46,7

~ g 2l$e+04 125 4000 Tnun L?b';.eﬂ)A/ZE “ g 2U‘:)e+U4 125 T nar )Me+l)4/25
4000, pO 4193+ 0.0 pO 4190+ 0.0 4000 e, pO 4209+ 0.0 4000 e, pO 4199+ 0.0
Pl 35341 0.00 Pl -35.66+ 0.00 F pl -36.31 0.00 Pl -35.18+ 0.00
3000~ E 3000 - 3000[ 1 3000 E
2000~ E 2000 - 2000 ] 2000 [ -
o ] 1000 ] woor C = 27.54 [ps/ch ] woF C = 28.43 [ps/ch ]
I L5 oL I L= I =
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(4,6,8) TVC(eb,ch)=(4,6,9) TVC(eb.ch)=(4, 6, 10) TVC(e.heh)=(4,6, 11)
Tz /e+u4 /25 ~ 1 nu.oloe+ud / 25 ©1nuizyzve+ud | 25 TnuiLg/3e+u4 /25
4000 f, PD 4214+ 0.0 4000 fo, DO 4232+ 0.0 4000 __- DO 4248+ 0.0 4000 o, pO 4236+ 0.0
pl -34.57 + 0.00 pl -34.46 + 0.00 r pl -35.64 + 0.00 pl -34.48 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 B 2000 [ E 2000 2000

1000 1000[-

] woF C = 29.02 [ps/ch] 1or C =29.00 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,6,14 TVC(C, bch) (4,6,15

T rure+u4 /25 T inuip4/e+u4 /25 ~ 1L pzae+u4 | 25 T inuiap/e+ud /25
41000 o, PO 4233+ 0.0 4000 b, PO 4227+ 0.0 4000 - PD 4230+ 0.0 4000 po, PO 4236+ 0.0
pl -36.38 + 0.00 pl -36.32+ 0.00 r pl -36.74 + 0.00 pl -36.73+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (4,7,0 TVC(cbch) (4,7,1 TVC(cbch) (4,7,2) TVC(cbch) (4,7,3

X~ 1w zive+U4 [ 25 AT 1 nuiL2yze+u4 [ 25 X~ i1 rve+U4 /25 AT 1 nuiLsyse+u4 / 25
4000 4213+ 0.0 4000, po 4227+ 0.0 4000 fm PO 4232+ 0.0 4000 fr, PO 4250 0.0
-35.11 % 0.00 pL -35.69 £ 0.00 L pl -35.11 £ 0.00 pL -35.63 % 0.00
3000 — 3000 B 3000 - 3000 E
. ]
2000 — 2000 1 2000 ] 2000 7
. 1000 - [ ~ _ ] 1000 -
1000 wof- C = 28.48 [ps/ch .
- [ -
- -
1 1 1 1 L 1 1 1 1 1
50 100 50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,7,4 TVC(cbch) (47, TVC(cbch) (4,7,6 TVC(c, bch) (4.7,

LIS A)UAENJA 125 S i)zlE+U4/25 ~ 21 1e+04 /25 T nar )bze+04/25
4000 pO 42445 00 4000 fom pO 4246£ 0.0 4000 fm pO 42451 0.0 4000 fr, pO 42521 0.0
Pl -35.22% 000 -355+ 00 [ L -35.73% 000 Pl -35.44%000
3000 ] 3000 - 3000 5 3000 4
2000 ] 2000 4 2000 . 2000 |- ]
1000 ] 1000 ] wor C =27.99 [ps/ch ] oF C = 28.22 [ps/ch ]
1 1 - L 1 1 t 1 1 -
50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (47,8 TVC(cbch) (47, TVC(cbch) (47,10 TVC(c, bch) (4,7,

) 9) ) 1)
1nuz 3ove+u4 | 25 T nuy. 130e+u4 / 25 T nubge+u4 [ 25 “onairu/e+u4 /25
4000 p, PD 4222+ 0.0 4000 fo, DO 4247+ 0.0 4000 __- DO 4268+ 0.0 4000 4260+ 0.0
pl -36.28 + 0.00 pl -36.57 + 0.00 r pl -36.35+ 0.00 -35.5+ 0.0

3000

-1 3000 - 3000

1 3000

2000 B 2000 = 2000 2000

1000 e 1000 — 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(47l ) TVC(cbch)(4713) TVC(cbch)(47l ) TVC(cbch)(4715)
T Lo/ e+u4 /25 T nuiLayse+ud [ 25 T szse+u4 [ 25 -1 nuiqpae+ud [ 25
4000 fo pO 4268+ 0.0 4000 4278+ 00 4000 fomm PD 4271£ 00 4000 fam, pO 4274% 00
pl -35.75+ 0.00 -36.61+ 0.00 F pl -36.06 + 0.00 pl -36.29+ 0.00

- 3000

3000 1 3000 -1 3000 .

2000 - 2000 T 2000 E 2000

1000 4 1000

N 1000 - 1000

PR BRSNS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0)

A~ 1 nui Ss1e+u4 / 25
po 4199+ 0.0
p1 -36.33+ 0.00

TP delay [ns]

TVC(cbch) (4,84

- 1 i gobe+ud / 25
pO 4227+ 0.0
p1 -35.61+ 0.00

50 5
TP delay [ns]

TVC(cbch) (4 8,8

i ba1e+ud [ 25
pD 4225+ 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(cbch) (4,812

T o1e+u4 /25
pO 4222+ 0.0
pl -34.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,81

A1 L4y (e+Ud ] 25
. po 4207 + 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,5

-1 nui Byle+u4 / 25
[Foees, pO 4218+ 0.0
pL -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,9

< (s rerud 125
pO 4245+ 0.0
pL -35.76+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 8 13

T nuiL p3be+ud / 25
pO 4223+ 0.0
pl -36.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (4,8,2)

- C = 28.37 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (4,86

1000

T g zoe+ud /25
_l'_ pO 4212+ 0.0
[ p1 -35.25+ 0.00

-1z, 0s8e+u4 [ 25
pO 4229+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 8, 10

1000

T nuz348e+04 | 25
-, po 4265+ 0.0
L pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (4,814

T4z ie+u4 /25
- pD 4227+ 0.0
L -34.33+ 0.00

- C = 29.13 [ps/ch]

P R TR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

AT 1L 4rze+ud | 25
=, po 4211+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

- 1nu Zoze+u4 [ 25
- pO 4242+ 0.0
p1 -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T, /4ue+u4/25
4256+ 0.0
-34.78 + 0.00

[ C =28.75[ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 8 15

Tonai/13e+u4 /25
e pO 4241+ 0.0
p1 -36.04 + 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(c,b,ch)=(4, 9,0)

K- use7/25
po 4182+ 0.0
pL -32.64  0.00

[ C =30.63 [ps/ch] ™ ]

1 1
50 100

TP delay [ns]

TVC(cbch) (49,4

4000

3000

2000

1000

S rnuanLQuse+ud / 25
e pO 4224+ 0.0
p1 -33.23+ 0.00

[ C =230.09 [ps/ch] ™ ]

5(') 10'0
TP delay [ns]

TVC(cbch) (4 9,8

i Zaye+ud | 25
e, pD 4204+ 0.0
p1 -32.71+ 0.00

4000 &
3000 - 71
2000~ 7]
100 C = 30.57 [ps/ch] ™. ]
) - o
TP delay [ns]
TVC(cbch) (4,9,12)
~ 1 nuiL pboe+ud / 25
4000 fon, po 4252?‘
pl -34.79+ 0.00
3000~ ]
2000 - ]
10r C =28.74 [ps/ch]™,_ 7
L C

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,1)

S T a5 /25
E pO 4180+ 0.0
pL -32.67 £ 0.00

[ C=230.61[ps/ch] ™_ 1
L 1 %

TP delay [ns]

TVC(c,b ch) (4 9,5

- 1 0ave+u4 25
[, DU 4221+ 0.0
pl -32.77+ 0.00

[ C =30.52 [ps/ch] ™ 1]
50 150
TP delay [ns]

TVC(c,b ch) (4 9,9

T nu, 7uze+ud /25
- pO 4228+ 0.0
p1 -34.15+ 0.00

[ C =29.28 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (49,1

== pO

p1

3

Tinun g ooe+ud [ 25
4251+ 0.0
-34.32+ 0.00

[ C=29.14 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,2)

'C 3073[ps/ch] - '

1
= 100

TP delay [ns]

TVC(cbch) (4,9,6

A~ 1 nui Ugoe+04 | 25
Fom po 4196+ 0.0
[ p1 -32.54.+ 0.00

3000

- C = 29.13 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb.oh)=(4, 9, 10

© i 18be+04 / 25
- pO 4218+ 0.0
[ pl -34.33 + 0.00

-1z (8 /e+04 1 25
- pO 4238+ 0.0
[ pL -32.75+ 0.00

- C = 30.53 [ps/ch] - 1

0

TVC(cbch) (4,9,14

50

1
100

TP delay [ns]

4000 e
3000
2000

1000

pD

pl

1L p4ve+ud | 25
4262+ 0.0
-35.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3

A~ 1 nuiL, 1use+ud [ 25
Fem, po 4201% 0.0
pL -32.88+ 0.00

[ C=230.41[ps/ch] ™
L T

TP delay [ns]

TVC(c,b ch) (4 9,7

= rnui Tg1e+04 / 25
= po 4231+ 0.0
p1 -33.77 + 0.00

[ C=29.61 [ps/ch] ~.

50 160
TP delay [ns]

TVC(c,b ch) (4, 9

T a51e+u4/25
- pO 4232+ 0.0
p1 -32.94+ 0.00

[ C=30.35[ps/ch] ™ 1

_L
50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9 15

- pO

- i vo4e+u4 [ 25
4260+ 0.0
-34.38 + 0.00

[ C=29.09 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 10 0)

© L yose+u4 [ 25
pO 4201+ 0.0
p1 36+ 0.0

TP delay [ns]

TVC(cbch) (4,104

T zo/e+u4 [ 25
pO 4234+ 0.0
pl -36.86+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b, ch) (4, 10 8

1 nuig,bove+u4 / 25
po 4232+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (4,10, 12

[ C =28.80 [ps/ch]

T L gzoe+u4 / 25
po 4244+ 0.0
-34.72+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(C, bch) (4,10,1

AT 1L r4e+U4 [ 25
po 4204+ 0.0
pl -36.29 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,105

=1 Uz usbe+u4 / 25
pO 4220 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(ebeh)=(4, 10,9

~ 1 nuiLu4se+us / 25
pO 4268+ 0.0
p1 -38.47 + 0.00

1
100

TP delay [ns]

TVC(C, bch) (410,13

T nuiL yzoe+ud / 25
pO 4258+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

1000

TVC(CbCh) (4,10,2)

K™ 1 nuzuze+ud / 25
po 4211+ 0.0
p1 -36.64 + 0.00

TP delay [ns]

TVC(cbch) (4,10,6

-1z 303e+04 / 25
po 4234+ 0.0
pl -37.74 0.00

100
TP delay [ns]

TVC(cbch) (4, 10 10

T nuig343e+04 / 25
DO 4274+ 0.0
-37.51+ 0.00

1
100

TP delay [ns]

TVC(cbch) (410,14

T rnuiLysse+ud | 25
pD 4257+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

AT rnuiLyuse+ud [ 25
po 4217+ 0.0
pl -35.95+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,7

S nun 2.38e+04 [ 25
pO 4245 0.0
pL -37.26+ 0.00

100
TP delay [ns]

TVC(ehch)=(4, 10, 11

T nuiz goze+u4 [ 25
pO 4285+ 0.0
pl -37.79+ 0.00

TP delay [ns]

TVC(cbch) (4,10,15

T inuiLyroe+ud [ 25
po 4257+ 0.0
p1 -35.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,11,0)

A7 1 nui zuve+u4 / 25
P po 4173+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(cbch) (4,11,4

= 1 Ui BUbe+u4 / 25
Fre pO 4204+ 0.0
pl -36.25+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4,118

T L brye+u4 | 25
- po 4209+ 0.0
pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (411,12

T rnuiLg13e+u4 / 25
= po 4226+ 0.0
pl -34.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,11,1)

AT 1nuiLzo/e+ud [ 25
P e po 4174+ 0.0
pl -35.07 + 0.00

1 1
50 100

TP delay [ns]

TVC(cbch) (4,11,5

-1 nuiLB/oe+u4 / 25
- pO 4219+ 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(eh.eh)=(4, 11, 9

Tinun4.43e+04 1 25
- pO 4245+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c, bch) (411,13

T bple+ud [ 25
- po 4245 0.0
p1 36+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4,11, 2)

A~ 1 nuiLu4se+u4 /25
P nse, po 4190+ 0.0
L pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,11,6

-1 nuz,u3be+ud / 25
- pO 4216+ 0.0
[ pl -36.12+ 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

1000

0

X~ 1wz 134e+04 [ 25
- po 4251+ 0.0
- pl -36.83 + 0.00

TP delay [ns]

TVC(cbch) (4.11,14)

rnun 1 oe+u4 /25
__ DD 4245+ 0.0
L pl -35.94+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,3)

AT 1 nuiL1v4e+U4 [ 25
oes, po 4201+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (4,11,7

S nun18/e+04 /25
- pO 4225+ 0.0
pL -35.92:+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (4, 11 11

T nui n33e+u4 / 25
- pO 4261+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c, bch) (411,15

T nuigsye+ud [ 25
e pO 4234+ 0.0
p1 -35.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,12,0)

1 nu su5e+u4 [ 25

e p; " 4198+ 0.0
-34.26 + 0.00
[ C=29.19 [ps/ch]N,_ 1
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (4, 12 4)
< nuiL 39ve+u4 / 25
3 pO 4206+ 0.0
pl -34.62+ 0.00

- c =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (4, 12 8)
Tz yrge+ud [ 25
= po 4227+ 0.0
pl -34.75+ 0.00

TP delay [ns]

TVC(Cbch) (4, 12 12

1 nu s48e+u4 / 25

= po 4215+ 0.0
p1 34+ 0.0

[ C =29.41 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,12,1)

P po

p1

AT 1 nuiLsz4e+U4 [ 25
4201+ 0.0
-34.89 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (4, 12 5

- nui411e+u4 [ 25
4220+ 0.0
-35.05+ 0.00

TP delay [ns]

TVC(c, bch) (4,12,9

1 nu UBe+U4 | 25
4228+ 0.0
-33.5+ 0.0

[ C =29.85[ps/ch]

1
50 100

TP delay [ns]

TVC(c,b ch) (4,12,13

X rnan g

- po
p1

3ze+u4 | 25
4212+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,12,2)

Faese, PO

A7 1 nun suse+u4 / 25
4224+ 0.0
p1 -36.18 + 0.00

TP delay

TVC(Cbch) (4, 12 6

- b

pl

[ns]

-1 i zog4e+u4 [ 25
4224+ 0.0
-35.68 + 0.00

TP delay

TVC(cbch) (412,10

[ns]

Tz, fule+u4 / 25
4261+ 0.0
-34.33+ 0.00

4000 [, DO

[ pl
3000:— ]
2000 -— _-
wor C =29.13 [ps/ch] ™, 7

[ . e

0 50 100

TP delay [ns]

4000

3000
2000

1000

TVC(CbCh) (4, 12 14

F- "

T ss4e+04 / 25
4218+ 0.0
pl -35.53+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,12,3)

po

AT 1L ozoe+ud [ 25
4221+ 0.0
p1 -36.28+ 0.00

TP delay

TVC(c,b Ch) (4, 12 7

- pO

[ns]

- nun g3ze+u4 / 25
4239+ 0.0
pl -35.24 % 0.00

TP delay

TVC(c, bch) (4, 12 11

[ns]

~ 1 nuiz.yloe+ud / 25
4252+ 0.0
-34.18 + 0.00

[ C =29.26 [ps/ch]

1
50 100

TP delay

TVC(cbch) (4, 12 15

e pO

[ns]

T nan s48e+u4 / 25
4221+ 0.0
p1 -34.63+ 0.00

TP delay

[ns]
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2000
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4000
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2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 13 0)

©rnuizusoe+u4 | 25
P s, pO 4204+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (4,134

- 1L zoye+ud / 25
Fome, pO 4213+ 0.0
pl -36.30 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 13 8

T rnuiz4r3e+04 /25
- pO 4231+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (4,13,12

T rnuiLs13e+u4 / 25
= po 4237+ 0.0
pl -35.83+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,13,1)

AT nu.s8/e+u4 [ 25
P s po 4212+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(c, bch) (4,135

-1 nui base+ud [ 25
pO 4232+ 0.0
pL -36.58+ 0.00

TP delay [ns]

TVCebeh)=(4, 13,9

~ 1 nu.b48e+u4 25
- pO 4245+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (413,13

TinuiLn/1e+ud [ 25
= pO 4233+ 0.0
p1 -35.5+ 0.0

TP delay [ns]
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3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (4,13,2)

TP delay [ns]

TVC(cbch) (4,136

AT 1nuz4sie+04 /25
Freee, po 4201+ 0.0
o pl -35.46+ 0.00

3000

T nun14ee+04 /25
- pO 4204+ 0.0
- pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (4, 13 10

0

© 1 nuig.yuge+u4 / 25
-, po 4279+ 0.0
L pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (413,14

T rnuiLa43e+04 / 25
- pD 4242+ 0.0
L pl -35.46 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

A- 1 20540404 | 25
== po 4201+ 0.0
p1 -34.38+ 0.00

[ C =29.09 [ps/ch] ]

L
50 100

TP delay [ns]

TVC(c, bch) (4,137

-1 nur sobe+u4 / 25
4217+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(eheh)=(4, 13, 11

T nuiz.zzoe+u4 [ 25
- po 4269+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(cbch) (4,13,15

<1 nui p4oe+ud [ 25
= pO 4247+ 0.0
p1 -36.28 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,14,0)

1 nu, r4ze+04 [ 25

PO 4205+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (4,144

- i z35e+04 / 25
Fome, pO 4205+ 0.0
pl -35.91:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 14 8

1z 20ze+04 | 25
- PD 4210+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (414,12

Tz, 158e+u4 / 25
== pO 4241+ 0.0
pl -35.65+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,14,1)

[Fonee po

pl

AT rmuLorye+ud [ 25
4200+ 0.0
-35.97 + 0.00

TP delay [ns]

TVC(c, bch) (4,145

=

pO
pl

29e+04 | 25
4196+ 0.0
-35.89 + 0.00

1
50 100

TP delay [ns]

TVC(c, bch) (4,14,9

[, pO

T nub.pb/e+u4 25
4231% 0.0
-35.48 + 0.00

pl

TP delay [ns]

TVC(C, bch) (414,13

T nai guze+ud / 25
4246+ 0.0
-36.62+ 0.00

TP delay [ns]

TVC(cbch) (4,14,2)

4000, p0

pl

3000~

2000 -

wol- C = 28.21 [ps/ch

AT 1nuiLozre+V4 /25
4224+ 0.0
-35.45+ 0.00

1
50 100

TP delay

TVC(cbch) (4,146

4000 _—_ pO

[ns]

-1 Ui 305e+04 / 25
4225+ 0.0
pl -36.26 + 0.00

3000 =

2000~

wof C = 27.58 [ps/ch

TP delay

TVC(cbch) (4,14, 10

S Uy re+V4 /25
4251+ 0.0
pl -35.52+ 0.00

4000 B

pO

[ns]

3000
2000

1000

TP delay

TVC(cbch) (414,14

4000

[ns]

T Ly ze+u4 [ 25
4226+ 0.0
-35.31+ 0.00

3000

2000

1000

PR IR SRR |
50 100

TP delay

[ns]
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2000

1000

4000

3000

2000

1000

TVC(cbch) (4,14,3)

AT 1L sUbe+u4 [ 25
4230+ 0.0
pl -36.58 + 0.00

po

TP delay

TVC(c, bch) (4,14,7

[, pO

[ns]

-1 nun zg3e+u4 / 25
4212+ 0.0
pl -35.21+ 0.00

TP delay

TVC(c, bch) (4, 14 11

e, pO

[ns]

~ 1 nuiz.zgoe+u4 / 25
4257+ 0.0
pl -35.87 + 0.00

TP delay

TVC(cbch) (4,14,15

[ns]

T i yuze+u4 [ 25
4237+ 0.0
pl -35.77 + 0.00

TP delay

[ns]
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1000

0
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2000

1000

TVC(CbCh) (4, 15 0)

© g zove+ud | 25
4244+ 0.0
-34.71+ 0.00

C =28.81 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (4,154

T rnugzgle+ud | 25
4211+ 0.0
-36.3+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (4, 15 8

1 nuiLgEge+U4 / 25
= po 4222+ 0.0
pl -37.16 + 0.00

TP delay [ns]

TVC(cbch) (4,15, 12

T rnuiLgase+u4 / 25
= po 4257+ 0.0
pl -36.14 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000
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1000

4000

3000

2000

1000

TVC(chh) (4,15,1)

AT 1 nuzzoze+ud [ 25
oaee po 4229+ 0.0
pl -34.14+ 0.00

[C=29.29 [ps/ich] ™, ]
TP delay [ns]

TVC(c, bch) (4,155

-1 nu 1bYe+u4 / 25
F po 4219+ 0.0
pL -36.89+ 0.00

TP delay [ns]

TVC(c, bch) (4, 15 9

T nup.Bl/e+ud [ 25
= po 4233+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(C, bch) (415,13

Tanai g/ /e+ud [ 25
pO 4271% 0.0
pl -36.61+ 0.00

TP delay [ns]
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3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(CbCh) (4,15,2)

TP delay [ns]

TVC(cbch) (4,156

1000

AT 1nug 13se+04 /25
_-_ po 4253+ 0.0
r Pl -36.43: 0.00

3000

© 1 nu.484e+04 | 25
- pO 4225+ 0.0
- pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (4, 15 10

T 1z /e+04 /25
- po 4254+ 0.0
- pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (4,15, 14

~1nuiLgyze+u4 | 25
pD 4267+ 0.0
pl -35.99+ 0.00

TP delay [ns]
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1000

TVC(Cbch) (4,15,3)

A7 1 nuiz,154e+U4 [ 25
— po 4265+ 0.0
pl -35.25+ 0.00

TP delay [ns]

TVC(c, bch) (4,157

- 1nu zgle+ud / 25
- pO 4231% 0.0
pL -36.01% 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(4 15, 11

~ 1 nuiz.19ge+u4 / 25
- po 4263+ 0.0
p1 -36.14+ 0.00

TP delay [ns]

TVC(cbch) (4,15,15

T nui szee+ud [ 25
= pO 4253+ 0.0
p1 -35.37+ 0.00

TP delay [ns]



TVC(cbch)(SOO) TVC(cbch)(SOl) TVC(cbch)(502) TVC(cbch)(503)
A7 zzoe+04 /25 AT 1 nuiL love+ud [ 25 A7 1nui1soe+u4 /25 AT 1 nuiLzuoe+ud [ 25

4000, po 4203+ 0.0 4000, po 4205+ 0.0 4000, po 4215+ 0.0 4000 fe po 4222+ 0.0
pl -36.3+ 0.0 pl -36+ 0.0 F pl -35.81+ 0.00 pl -35.66 + 0.00

3000

N 3000 -1 3000 - 3000 -

2000 -1 2000 -1 2000 - 2000

1000 — 1000 - 1000 u 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (50,4 TVC(cbch) (50,5 TVC(cbch) (50,6 TVC(c, bch) (50,7

“nun 118e+u4 / 25 - zsae+ud | 25 -1 nuiL304e+04 / 25 -1 nun 381e+u4 / 25
4000 pO 4219+ 0.0 4000 pO 4233+ 0.0 4000 feme, pO 4243+ 0.0 4000 fes pO 4243+ 0.0
pl 3578+ 000 Pl -36.71% 000 L pl -36.21% 0.00 Pl -36.38 0.00
3000 - 3000 e 3000~ - 3000 - -
2000 _ 2000 g 2000 b 2000 f- B
L]
1000 C 4 1000 N w00 C = 27.62 [pS/Ch 7 1000 C 7]
H - -
- - - -
- - - -
- - - -
1 1 1 1 1 1 0, 1 1
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(5,0,8) TVC(eb.e)=(5,0,9) TVC(eb.ch)=(5, 0, 10) TVC(ebeh)=(5,0, 1)
-1 nuiLbpye+ud / 25 T 3a5e+04 [ 25 T i, (3ge+u4 / 25 T i b /9e+u4 [ 25
4000 e, pO 4227+ 0.0 4000 e, pO 4257+ 0.0 4000 [, DO 4255+ 0.0 4000 [l p0 4266+ 0.0
Pl -36.59: 0.00 Pl -36.91% 0.00 [ 352+ 0.0 Pl -36.28+ 0.00

3000

- 3000 =1 3000 - 3000 -1

2000 -1 2000

2000 ] 2000

1000 E 1000 ] 1000

1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(SOl ) TVC(cbch)(5013) TVC(cbch)(5014) TVC(cbch)(5015)
1 nuig.pube+u4 / 25 Tanan s /re+ud [ 25 T rnugu4se+ud [ 25 T inan4.03e+u4 [ 25
4000 [, pO 4230+ 0.0 4000 o, pO 4229+ 0.0 4000 [, PD 42255 00 4000 o, pO 4233£ 0.0
pl -35.43 + 0.00 pl -35.73+ 0.00 F pl -35.65 + 0.00 pl -35.47 + 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (51,0

X~ 1 suse+U4 [ 25
Fomee, po 4204% 0.0
Pl -36.34 0.00

TP delay [ns]

TVC(cbch) (51,4

- i I53e+04 / 25
o, pO 4194+ 0.0
pl -34.51+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 1,8

©nuiL4z4e+04 [ 25
- pO 4232+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(cbch) (51,12

~ 1 nuiL4p3e+U4 / 25
- pO 4211400
-33.96+ 0.00

I C =29.45 [ps/ch]

PR B SRS |
50 100

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,1

AT 1 nuiL33be+u4 [ 25
[roee po 4198+ 0.0
Pl -35.22%0.00

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (5 1,5

“rnan 1.14e+04 1 25
F DU 4202+ 0.0
Pl -33.81% 000

[ C =29.57 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (5 1,9

T 2z 7e+04 [ 25
- pO 4243+ 0.0
pL -36.26 + 0.00

TP delay [ns]

TVC(cbch) (51,13

T zoge+u4 [ 25
= 4227+ 0.0
-34.56 + 0.00

[ C =28.93 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]
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1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5,1,2)

TP delay [ns]

TVC(cbch) (5.1,6

A7 nun4sae+04 /25
[, po 4224+ 0.0
3 Pl -36.42+ 0.00

3000

TnuiL13/e+04 /25
- pO 4203+ 0.0
[ PL_ 32543 0.00

3000

- C =30.73 [ps/ch] -, 7

50 10‘0
TP delay [ns]

TVC(cbch) (5, 1 10

T nuz35/e+04 [ 25
- DO 4253+ 0.0
[ pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (51,14

“nun ) 4qe+u4 [ 25
- PD 4209+ 0.0
F pl -33.93+ 0.00

- C = 29.47 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (51,3

A~ 1 nuiL4uze+ud [ 25
- PO 4219 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (5 1,7

-1 Zoye+ud [ 25
- PO 4205+ 0.0
Pl 32.84% 000

[ C=30.45[ps/ch] *_ 7]
se i
TP delay [ns]

TVC(c,b ch) (5, l

- b/ie+U4/25
= p0 4250+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(cbch) (51,15

v aq/e+U4 [ 25
- 4212+ 0.0
-34.43+ 0.00

[ C =29.04 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]
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1000
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (5,2,0)

T 1soe+ud /25
pee,. pO 4178+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (524

- rnuiLazoe+04 / 25
- pO 4201% 0.0
pl -36.36+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5 2,8

©1nuig.u4pe+u4 / 25
= po 4197+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (5,2, 12

T L psve+u4 / 25
= po 4220+ 0.0
pl -36.85+ 0.00

PR B SRS |
50 100

TP delay [ns]
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1000
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (52,1

AT 1L sooe+ud [ 25
. po 4178+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (5 2,5

-1 nui bzye+u4 [ 25
pO 4195+ 0.0
pL -35.68+ 0.00

TP delay [ns]

TVC(c,b ch) (5 2,9

<1 nu.1ybe+ud / 25
po 4230+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(C, bch) (5,213

T nuipole+ud / 25
pO 4206+ 0.0
pl -36.08 + 0.00

TP delay [ns]
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2000

1000

4000

2000

1000

4000

2000

4000

2000

TVC(cbch) (5,2,2)

AT inuoire+ud /25
o=, po 4187+ 0.0
L p1 -36.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.2,6

T brze+u4 [ 25
- pO 4207+ 0.0
3 pl -36.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 2 10

1000

Tz z3pe+ud | 25
-, po 4241+ 0.0
o pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.2 14

1000

1L sube+u4 / 25
= pD 4212+ 0.0
+ pl -35.93+ 0.00

3000

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,2,3)

AT rnuiLslie+ud /25
== po 4204+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (5 2,7

- nu /19e+04 / 25
- pO 4216+ 0.0
pL -35.97+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 2

T aube+u4/25
e pO 4245+ 0.0
pl -36.19+ 0.00

TP delay [ns]

TVC(C, bch) (52,15

Tinaigize+ud [ 25
- pO 4206+ 0.0
p1 -35.29+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (53,0

©rnug.yive+ud [ 25
P, pO 4170+ 0.0
p1 -35.02+ 0.00

TP delay [ns]

TVC(cbch) (53,4

-1 Sage+04 25
e, pO 4184+ 0.0
p1 -36.17:+ 0.00

50 5
TP delay [ns]

TVC(cbch) (5 3,8

-1 nug O1ye+ud / 25
4217+ 0.0
-36.7 + 0.0

1
50 00

TP delay [ns]

TVC(cbch) (5,312

T i, ro4e+04 / 25
= po 4228+ 0.0
pl -36.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.3,1)

- 1 dloverud | 25
pee,, pO 4169 + 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,5

T 1846404 [ 25
e, pO 4188+ 0.0
p1 -36.76+ 0.00

TP delay [ns]

TVC(c,b ch) (5 3,9

-y Zs1e+U4 ] 25
e pO 4225 0.0
pL -36.58+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 3 13

TinuiLy4/e+ud [ 25
= pO 4216+ 0.0
pl -36.76 + 0.00

TP delay [ns]
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1000

4000

2000

4000

2000

4000

2000

1000

TVC(cbch) (5,3,2)

X~ 1nugpLie+4 /25
e, po 4190+ 0.0
L p1 -36.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (53,6

1000

= 1 b8ye+u4 [ 25
- pO 4221 0.0
[ pl -37.02 0.00

3000

TP delay [ns]

TVC(eb,oh)=(5, 3, 10

1000

0

- nuizyize+ud | 25
P po 4236+ 0.0
[ p1 -37.03 0.00

3000

TP delay [ns]

TVC(cbch) (5,3 14

T, ru4e+04 [ 25
- pD 4224+ 0.0
[ p1 -37.22+ 0.00

3000

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.3,3

A~ 1. 347e+04 [ 25
- po 4188+ 0.0
pL -34.67 + 0.00

TP delay [ns]

TVC(c,b ch) (5 3,7

- nui /yle+u4 / 25
- pO 4212+ 0.0
p1 -35.93+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (5, 3

EEALEVX uu::e+u4/25
- pO 4246+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 3 15

T inui gbse+ud / 25
4232+ 0.0
-37.11+ 0.00

50 100

TP delay [ns]
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4000

3000
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1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,4,0)

e, po

pl

K™ 1 nui obse+ud / 25
4172+ 0.0
-35.59+ 0.00

TP delay [ns]

TVC(cbch) (54,4

- 1L Bloe+ud / 25
- pO 4200+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(cbch) (5 4,8

a2 ygoe+u4 | 25
- po 4235+ 0.0
-37.61+ 0.00

0

TP delay [ns]

TVC(cbch) (5,4, 12

©rnuizguze+u4 | 25
4213+ 0.0
-34.8+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.4,1)

X

' PO
p1

L, sove+ud [ 25
4170 0.0
-36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,5

- nui r83e+u4 / 25
P pO 4213+ 0.0
pL -37.75+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,9

T inaiz14e+04 /25
- pO 4249+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(C, bch) (54,13

T inuiLgb/e+ud [ 25
- pO 4227+ 0.0
pl -35.45+ 0.00

TP delay [ns]
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TVC(cbch) (5,4,2)

A"

po
pl

1 nui pyse+ud / 25
4197+ 0.0
-35.64 + 0.00

TP delay [ns]

TVC(cbch) (54,6

-1 i Boye+ud / 25
- pO 4214 0.0
L pl -37.64+ 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

T nuigpzze+u4 [ 25
-, po 4256+ 0.0
- pl -36.19+ 0.00

TP delay [ns]

TVC(cbch) (5,414

T L gsve+u4 / 25
. pD 4218+ 0.0
L pl -34.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3)

o po
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A7 1 nuiLyoae+u4 [ 25
4203+ 0.0
-36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (5 4,7

= 1nu Ivze+ud | 25
= po 4210+ 0.0
pl -36.72+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 4

AR bu4e+u4/25
- po 4262+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(C, bch) (54,15

Tnair3ze+u4 [ 25
= pO 4217+ 0.0
p1 -35.12+ 0.00

TP delay [ns]



TVC(cbch) (5,5,0)
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K™ 1 nui zoye+ud / 25
4182+ 0.0
-36.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (55,4
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1000

- rnuiL3y1e+u4 / 25
pO 4185+ 0.0
p1 -36.72:+ 0.00

TP delay [ns]

TVC(cbch) (5 58
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g goge+u4 / 25
4237+ 0.0
-37.31+ 0.00

0

TP delay [ns]

TVC(cbch) (55,12
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T L b3ve+u4 / 25
pO 4228+ 0.0
pl -35.25+ 0.00
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TVC(cbch) (5,5, 1

X 1L ze+ud | 25
- po 4189+ 0.0
pL -37.84+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

- nun 3vze+u4 [ 25
- pO 4189+ 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(c,b ch) (5 59

<1 nuw pbye+ud / 25
4262+ 0.0
-37.31+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (5,5,13

Tinaizae+ud [ 25
- pO 4227+ 0.0
pl -34.65+ 0.00

TP delay [ns]
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TVC(cbch) (5,5,2)

AT 1nun szse+u4 /25
i po 4202+ 0.0
L pl -36.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

©rnuiL 719e+04 / 25
- pO 4201 0.0
[ pl -36.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

0

T 1nuiz.4u/e+u4 [ 25
-, po 4268+ 0.0
- pl -36.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

T nuiLb3ve+u4 [ 25
- pD 4239+ 0.0
L pl -35.89+ 0.00
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TP delay [ns]
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TVC(cbch) (5,5,3)

T Lsre+ud /25
poee, pO 4207+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (5 57

=1 Ui byoe+u4 / 25
e, pO 4205+ 0.0
pL -36.07+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 5

T yzze+u4/25
= pO 4264+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(C, bch) (5,5,15

T naisuse+ud / 25
4228+ 0.0
-34.91+ 0.00

TP delay [ns]



TVC(eb.ch)=(5, 6,0) TVC(eb.ch)=(5,6, 1) TVC(eb.ch)=(5, 6,2) TVC(eb.ch)=(5,6,3)
X~ 1L dsse+0d [ 25 X~ 1 i doze+ud | 25 X~ 1L dz1e+0d [ 25 x-Sy re+ud /25
4000 o, po 4180+ 0.0 4000 po 4196+ 0.0 4000 po 4209+ 0.0 4000 B, po 4212 0.0
Pl -37.53%0.00 pL -38.21% 0.00 3 pl -38.31 0.00 pL -37.71% 0.00

3000

1 3000 -1 3000 -1 3000

2000 N 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

0 0 L 0 L L 0
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5.6.4) TVC(cbch) (5.6,5) TVC(cbch) (5.6,6) TVC(cbch) (5.6,7)
T/ (9e+u4 | 25 ~1nubrae+u4 [ 25 -1 nuz bebe+u4 [ 25 -1 i Ygye+u4 / 25
4000, pO 4195+ 0.0 4000 fom, pO 4187+ 0.0 4000 4194+ 0.0 4000 4204+ 0.0
pl -37.05+ 0.00 pL -37+ 0.0 [ -37.01 0.00 -36.3+ 0.0
3000 - 3000 =1 3000 : —: 3000 1
2000 - E 2000 |- - 2000 ] 2000 E
wol C = 26.99 [ps/c . wol C = 27.02 [ps/c . so00f . 1000 .
0 EY 00 = 0 5 T - of EY 0 = 0 5 T =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (5.6,8) TVC(c,b ch) (5.6,9) TVC(c,b, ch) (5.6,10) TVC(c,b ch) (56,11)
©nuiLysle+ud / 25 - rnug.uLe+u4 / 25 © 1 nuzp4ye+ud [ 25 T ro3e+u4 [ 25
4000 = pO 4215+ 0.0 4000 pO 4223+ 0.0 4000 pO 4241+ 0.0 4000 4243+ 0.0
pl -36.01:+ 0.00 pL -36.09 + 0.00 [ pl -36.71+ 0.00 -36.+ 0.0

3000 -1 3000 - 3000 - 3000

2000 -1 2000 -1 2000 1 2000

1000 -1 1000 - 1000 N 1000

0

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(561 ) TVC(cbch)(5613) TVC(cbch)(561 ) TVC(cbch)(5615)
T, r3ze+04 [ 25 T 1L bbze+u4 [ 25 T 53se+u4 [ 25 T bzbe+u4 [ 25
4000 pO 4232400 4000 s pO 4220+ 0.0 4000 PD 4210+ 00 4000 pO 4228+ 00
pl -36.08 + 0.00 pl -36.14 + 0.00 : pl -35.73+ 0.00 pl -35.86 + 0.00

3000 -1 3000 - 3000 N 3000 T

2000 -1 2000 - 2000 -1 2000

1000 -1 1000 T 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(cbch) (5,7,0)

A7 1 nui4o0e+04 /25
4198+ 0.0
-36.21+ 0.00
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50 100

TP delay [ns]

TVC(cbch) (57,4

- i zy4e+04 / 25
- pO 4210 0.0
pl -36.93 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 7,8

 1nuz.4o8e+04 / 25
- PD 4223+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (57,12

TinuiLs1/e+ud /25
- PO 4248+ 0.0
pl -35.62 + 0.00

TP delay [ns]
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TVC(cbch) (57,1

A 1L dboe+ud | 25
[, po 4211+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(cbch) (57,5

AL 0113/ 25
- DU 4214+ 0.0
Pl -36.190.00

TP delay [ns]

TVC(c,b ch) (5 7,9

TG r4re+04 1 25
= pO 4255 0.0
pL -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (5.7,13

T 403e+04 [ 25
= pO 4252+ 0.0
pl -36.14 + 0.00

TP delay [ns]
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TVC(cbch) (5,7,2)

X~ 1 i buse+U4 [ 25
- po 4204+ 0.0
3 Pl -36.23% 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

~ Ui 430e+04 / 25
- pO 4218+ 0.0
3 PL_ -36.24% 0.00

TP delay [ns]

TVC(cbch) (5, 7 10

© 1 nuz,ubze+u4 [ 25
- DO 4252+ 0.0
I pl -35.88 + 0.00

TP delay [ns]

TVC(cbch) (57,14

TinuiLgr1e+ud /25
PD 4252+ 0.0
pl -35.34 + 0.00

TP delay [ns]
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TVC(cbch) (5,7,3

A~ 1 nuiLbose+u4 / 25
- po 4223+ 0.0
pL -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (5 7,7

-1 nui 44ze+04 [ 25
- PO 4229+ 0.0
Pl -35.17:0.00

TP delay [ns]

TVC(c,b ch) (5, 7

SRR yaue+u4/25
- pO 4254+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(C, bch) (57,15

T 31ze+u4 /25
- pO 4253+ 0.0
pl -35.17 + 0.00

TP delay [ns]
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TVC(cbch) (5,8,0

K™ 1 nui tove+ud / 25
N po 4211+ 0.0
p1 -34.99 + 0.00

TP delay [ns]

TVC(cbch) (58,4

- i 11ze+04 / 25
e pO 4192+ 0.0
p1 -34.72:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

T 1nug 31ve+u4 / 25
= pO 4221+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (5,812

T rnuiLzid4e+04 /25
- po 4261+ 0.0
pl -35.47 + 0.00

TP delay [ns]
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TVC(cbch) (5,81

AT 1 nunluze+ud [ 25
.. po 4195+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

-1 nui 340e+04 / 25
o pO 4195+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

Tinanp.z1e+u4 [ 25
= po 4250+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(C, bch) (5,813

T inai s34e+04 / 25
- pO 4266+ 0.0
-36.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]
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TVC(cbch) (5,8,2)

A~ 1nuiLuroe+ud /25
__— po 4198+ 0.0
o pl -35.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

S rnun 1 3be+04 [ 25
e pO 4219+ 0.0
[ pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

Tz 16ze+04 | 25
- po 4261+ 0.0
- pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (5,814

T i 1ove+u4 / 25
- pD 4247+ 0.0
L -34.46 + 0.00

- C = 29.02 [ps/ch]

PR IR SRR |
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TVC(cbch) (5,8,3)

AT rnuiizre+ud [ 25
po 4227+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (5 8,7

-1 nui 3v4e+04 / 25
pO 4214+ 0.0
pL -35.00+ 0.00

TVC(c,b ch) (5, 8

TP delay [ns]

T ame+u4/25
p0 4274+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(C, bch) (5,815

T nai1uze+ud / 25
pO 4238+ 0.0
p1 -34.86+ 0.00

TP delay [ns]
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TVC(cbch) (5,9,0)

X~ 1L usbe+U4 [ 25
4229+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (59,4

- i zsge+ud | 25
- pO 4213+ 0.0
p1 -36.43+ 0.00

50 5
TP delay [ns]

TVC(cbch) (5 9,8

S rnuZ14e+04 [ 25
4218+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(cbch) (5,9, 12

1 nuiL4o8e+04 / 25
= po 4243+ 0.0
pl -35.82+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (5.9,1

A1 laze+Ud ] 25
o=, po 4227+ 0.0
pL -36.63+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,5

-1 nun Zzve+u4 [ 25
- pO 4221+ 0.0
p1 -35.94 + 0.00

50 105
TP delay [ns]

TVC(c,b ch) (5 9,9

-/ rge+u4 [ 25
4238+ 0.0
-34.4+ 0.0

[ C =29.07 [ps/ch] 7

1
50 00

TP delay [ns]

TVC(c,b Ch) (5, 9 13

T inuiLgive+ud [ 25
- pO 4243+ 0.0
pl -36.08 + 0.00

TP delay [ns]
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2000

:
10005— C =29.80 [ps/ch] ™. '
: k-

4000
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2000

1000

TVC(cbch) (5,9,2)

TP delay [ns]

TVC(cbch) (59,6

1000

X~ 1L 1yse+u4 [ 25
- po 4231+ 0.0
[ p1 -36.82+ 0.00

3000

T 1.39e+04 [ 25
- pO 4243+ 0.0
[ 37.3+ 0.0

TP delay [ns]

TVC(eb,oh)=(5, 9, 10

- iz zise+ud [ 25
. po 4239+ 0.0
[ p1 -33.56+ 0.00

TP delay [ns]

TVC(cbch) (59,14

-1 z8se+u4 [ 25
I 4227+ 0.0
[ -34.07 + 0.00

FC =29.35 [psich™. 1

P R TR |
50 100
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TVC(cbch) (5,93

AT 1L zage+ud | 25
e po 4251+ 0.0
p1 -37.08+ 0.00

TP delay [ns]

TVC(c,b ch) (5 9,7

-1 nui boze+u4 [ 25
- pO 4249+ 0.0
p1 -37.16+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (5, 9

T au5e+u4/25
= pO 4247+ 0.0
p1 -34.42+ 0.00

[ C =29.05 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (5, 9 15

Tinuisr1e+u4 /25
e pO 4247+ 0.0
p1 -35.38 + 0.00

TP delay [ns]
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1000

TVC(CbCh) (5, 10 0)

=, pO

T Laze+ud /25
4158+ 0.0
pl -35.17 + 0.00

TP delay

TVC(cbch) (5.10,4

pO

[ns]

- i 2ase+04 [ 25
4211+ 0.0
pl -35.15+ 0.00

TP delay

TVC(cbch) (5, 10 8

[ns]

- s g11e+ud / 25
4218+ 0.0
pl -36.26 + 0.00

TP delay

TVC(cbch) (5,10, 12

[ns]

T rnuiLgole+u4 /25
4246+ 0.0
-36.4+ 0.0

PR B SRS |
50 100

TP delay
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TVC(chh) (5,10,1)

=, po

AT 1nuiL2u/e+u4 [ 25
4184+ 0.0
-35.02+ 0.00

p1

TP delay [ns]

TVC(c, bch) (5,10,5

~1nuiZ/4e+04 [ 25
4204+ 0.0
-34.96 + 0.00

TP delay [ns]

TVC(c, bch) (5,10,9

X~ g

== po
pl

2oe+u4 /25
4239+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (510,13

T inai sy3e+ud / 25
4256+ 0.0
-35.94+ 0.00

TP delay [ns]
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TVC(CbCh) (5,10,2)

=, PO

A7 1 nuizove+u4 / 25
4178+ 0.0
-34.8+ 0.0

pl

TP delay

TVC(cbch) (5.10,6

[ns]

-1 nurg 3o9e+04 / 25
4226+ 0.0
pl -36.43 + 0.00

- pO
L C = 27.45 [ps/ch .
5(') 10'0 =
TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

= o

T 1nuig.usde+ud | 25
4264+ 0.0
pl -37.15+ 0.00

TP delay

TVC(cbch) (5.10, 14

[ns]

T gsze+u4 [ 25
4249+ 0.0
pl -36.05+ 0.00

TP delay

[ns]
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TVC(Cbch) (5,10,3)

e po

AT 1 nuiLzaze+ud [ 25
4184+ 0.0
pl -35.16+ 0.00

TP delay

TVC(c, bch) (5,10, 7

= pO

[ns]

-1 nui bl3e+ud / 25
4232+ 0.0
pl -35.59 + 0.00

TP delay

TVC(cbch) (5, 10 1

e pO

[ns]

-1 nuiz.uyoe+u4 / 25
4256+ 0.0
pl -35.75+ 0.00

TP delay

TVC(cbch) (5.10,15

e, po

[ns]

Tonaisiie+ud /25
4229+ 0.0
p1 -35.59 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

[ C =29.76 [ps/ch]

K™ 1w 1oze+04 /25
e po 41652 0.0
-33.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5, 11 4

- UL 3oze+04 [ 25
5 po 4225+ 0.0
pl -35.39 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5, 11 8

S rnuz.z5e+04 [ 25
4224+ 0.0
-36.6 + 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (5,11, 12

A~ 1 nui s e+u4 /25
= po 4236+ 0.0
p1 -36.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,1)

e po

p1

AT 1 nuiLuLse+u4 / 25
4178+ 0.0
-33.47 + 0.00

[ C =29.87 [ps/ch]

1 1
50 100

TP delay

TVC(c,b Ch) (5, 11 5

F- pO

[ns]

=1 nui Zobe+u4 [ 25
4216+ 0.0
pl -35.88 + 0.00

TP delay

TVC(cbch) (5, 11 9

[ns]

~ 1 nug goye+ud 25
4243+ 0.0
pl -35.33+ 0.00

TP delay

TVC(c,b ch) (5, 11 13

- pO
p1

[ns]

T nuib4¥e+ud [ 25
4234+ 0.0
-36.6 + 0.0

TP delay

[ns]
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TVC(CbCh) (5, 11 2)

- P°

- C = 30.08 [ps/ch] .

- i 11berud [ 25
4185+ 0.0
p1 -33.25:+ 0.00

1
50 100

TP delay

TVC(chh) (5, 11 6

[ns]

- rnuib1be+04 / 25
4236+ 0.0
-36.78 + 0.00

P~ b
L pl
F C = 27.19 [ps/ch .
, e
TP delay [ns]

TVC(e,Deh)=(5, 11, 10

X© 1 UL gose+U | 25
- po 4248+ 0.0
[ pL -34.92 + 0.00

TP delay

TVC(c,b Ch) (5,11, 14

[ns]

X~ 1 415e+04 /25
- po 4226+ 0.0
| pl -35.33+ 0.00

TP delay

[ns]
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TVC(Cbch) (5,11,3)

AT 1nuiLuZie+u4 /25
o po 41831 0.0
pl -33.15+ 0.00
- C=30.16 [ps/ch] . 1
_L L =
50 100
TP delay [ns]

TVC(eh.eh)=(5, 11, 7

a1

- po

be+ud / 25
4248+ 0.0
-36.4 + 0.0

50 160
TP delay

TVCEDeN)=(5, 11, 11

e pO

[ns]

T nuib1Ye+u4 /25
4250+ 0.0
pl -35.67 + 0.00

TP delay

TVC(c,b Ch) (5, 11 15

e pO

[ns]

-1 ssge+ud [ 25
4223+ 0.0
p1 -35.25+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

Ty zse+ud /25
P pO 4182+ 0.0
p1 -34.69 + 0.00

TP delay [ns]

TVC(cbch) (5.12,4

-1 nuiLa54e+04 / 25
[, PO 4202+ 0.0
pl -36.78 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 12 8

T L gz3e+U4 / 25
= po 4199+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (512,12

T i suze+u4 | 25
pO 4213+ 0.0
pl -35.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,12,1)

AT rnunLsyze+ud [ 25
P po 4217+ 0.0
pl -35.62 + 0.00

TP delay [ns]

TVC(cbch) (5,125

-1 nui415e+04 / 25
e, pO 4205+ 0.0
pL -36.26+ 0.00

TP delay [ns]

TVCEDCh)=(5, 12,9

~ 1 nug1b4e+04 / 25
= po 4212+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(cbch) (512,13

— ~ 1 nuiLasoe+ud / 25
- pO 4195 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,12,2)

FC = 29.46 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

T b ze+u4 [ 25
- pO 4208+ 0.0
[ pl -36.16 + 0.00

K™ 1 nui zove+U4 / 25
__— po 4191+ 0.0
o pl -33.95+ 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

©1nuz.ande+u4 [ 25
DO 4240+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (5.12, 14

— T rnuiLg4ie+u4 / 25
= pD 4198+ 0.0
L p1 -35.43 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT 1L ssve+ud [ 25
=3 po 4194+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c, bch) (5,127

- i 374e+04 / 25
- pO 4218+ 0.0
p1 -36.54 + 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(5, 12, 11

T nuiL ryoe+u4 [ 25
e pO 4234+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(cbch) (5.12,15

- T inuiqzae+ud [ 25
pO 4203+ 0.0
-35.26 + 0.00

TP delay [ns]



TVC(CbCh) (5, 13 0)

4000

3000

2000

1000

1 iz sove+u4 [ 25
- pO 4290+ 0.0
p1 -37.12:+ 0.00

TP delay [ns]

TVC(Cbch) (5, 13 4

4000

3000

2000

1000

- rnuiL4zze+04 [ 25
o po 4227+ 0.0
pl -36.24 + 0.00

50 5
TP delay [ns]

TVC(eb.oh)=(5, 13,8

4000

3000

2000

1000

- L0 7be+U4 25
— pD 4267+ 0.0
p1 -34.1% 0.0

[ C =29.32 [ps/ch] ™,

0

50

1
100

TP delay [ns]

TVC(Cbch) (5, 13 12

4000

3000

2000

1000

T gsre+u4 [ 25
- po 4233+ 0.0
pl -35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5, 13 1)

- wuiyoerud [ 25
e pO 4282+ 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 5

-1 nui413e+04 / 25
[, pO 4215+ 0.0
pL -35.93+ 0.00

TP delay [ns]

TVC(eb.oh)=(5, 13,9

- /s 2ave+Ud | 25
- pO 4302+ 0.0
pL -35.76+ 0.00

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,13,2)

TP delay [ns]

TVC(Cbch) (5, 13 6

X~ 1 nuig 33/e+04 [ 25
... po 4297+ 0.0
[ p1 -37.45+ 0.00

3000

©1nuiL443e+04 | 25
4245+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(cbch) (5, 13 10

- uiLpade+ud | 25
- po 4315+ 0.0
r p1 -35.16+ 0.00

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

A1z rzoe+U4 | 25
po 4307+ 0.0
p1 -36.61+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 13 7

S 1.2be+04 [ 25
- pO 4258+ 0.0
p1 -37.18+ 0.00

50 100
TP delay [ns]

TVC(Cbch) (5, 13 1

" nai1uze+u4 / 25
- po 4318+ 0.0
pl -35.05+ 0.00

[ C =28.53 [ps/ch]

- C = 28.44 [ps/ch]

TP delay [ns]

TVC(c,b ch) (5, 13 13

T nui 345e+u4 / 25
- pO 4237+ 0.0
pl -35.18 + 0.00

TP delay [ns]

0

4000

3000
2000

1000

50

1
100

TP delay [ns]

TVC(CbCh) (5, 13 14

~ i sode+u4 / 25
- pD 4242+ 0.0
[ pl -35.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

50

1
100

TP delay [ns]

TVC(cbch) (5, 13 15

T inai z43e+04 / 25
- po 4249+ 0.0
pl -35.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

- 1 nuizyaze+u4 [ 25
e pO 4238+ 0.0
p1 -36.36+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 4

-1 nui349e+04 / 25
pO 4243 0.0
p1 -36.08:+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

- 1. 181e+04 1 25
- po 4203+ 0.0
p1 -35.26+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 12

T L goze+u4 / 25
- po 4283+ 0.0
pl -37.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

A~ 1 nuig.z5ze+ud [ 25
e po 4232+ 0.0
pl -35.5 % 0.0

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (5, 14 5

-1 nui blye+ud / 25
- pO 4254+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

- . /214041 25
- pO 4234+ 0.0
pL -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 14 13

TinuiLy4/e+ud [ 25
- pO 4269+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

:

:

1000;- C =28.85 [ps/ch] - ‘
| o+ s

4000

3000
2000

1000

TVC(CbCh) (5,14,2)

- C =28.17 [ps/ch

1
50 100

TP delay [ns]

TVC(Cbch) (5, 14 6

X~ 1 nuigoore+U4 /25
-._ po 4242+ 0.0
r p1 355+ 0.0

- 1nuiLbyle+ud / 25
- pO 4248+ 0.0
[ p1 -35.77+ 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 14, 10

- i 5zbe+Ud | 25
= po 4236+ 0.0
[ p1 -34.66+ 0.00

TP delay [ns]

TVC(CbCh) (5, 14 14

~ g zode+u4 | 25
- pD 4259+ 0.0
L pl -36.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

R 1 1uts.3a5e+U4 | 25
- po 4234+ 0.0
pL -34.75+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 14 7

-1 nui glae+u4 / 25
- pO 4276+ 0.0
p1 -35.94 + 0.00

TP delay [ns]

TVC(e.beh)=(5, 14, 11

Tinuz.4/e+04 /25
= po 4235+ 0.0
p1 -34.61+ 0.00

[ C =28.89 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (5, 14 15

-1 nuiz.yyae+ud [ 25
- pO 4262+ 0.0
p1 -35.8+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

T Lo sse+u4 [ 25
4197+ 0.0
pl -36.95+ 0.00

TP delay

TVC(cbch) (5.15,4

pO
pL

[ns]

-1 nuiLa54e+04 / 25
4193+ 0.0
-35.65+ 0.00

50 10‘0
TP delay

TVC(cbch) (5, 15 8

[ns]

T 3r4e+04 /25
4220+ 0.0
pl -36.16 + 0.00

TP delay

TVC(cbch) (515,12

[ns]

T rnuizyore+ud | 25
4222+ 0.0
pl -34.62 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

139e+u4 [ 25
4182+ 0.0
-36.25+ 0.00

Ao,

P PO

p1

TP delay [ns]

TVC(cbch) (5,155

-1 nui bl4e+04 [ 25
4203+ 0.0
-35.59 + 0.00

1
50 100

TP delay [ns]

TVC(c, bch) (5, 15 9

T nung.3be+ud [ 25
e, pO 4244+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (5.15,13

[, po

T inugzsze+ud [ 25
4223+ 0.0
-36.07 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (5,15,2)

P PO

AT 1nuiszse+04 /25
4208+ 0.0
pl -36.52+ 0.00

TP delay

TVC(cbch) (5.15,6

pO
p1

[ns]

-1 nur bbye+ud / 25
4216+ 0.0
-36.68 + 0.00

TP delay

TVC(cbch) (5. 15, 10

= o

[ns]

© 1z zoge+u4 | 25
4242+ 0.0
pl -36.47 + 0.00

TP delay

TVC(cbch) (5.15, 14

- PD

[ns]

~ 1z boze+04 [ 25
4231+ 0.0
pl -37.42+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT 1nun Ly1e+ud /25
4210+ 0.0
pl -35.77 + 0.00

po

TP delay

TVC(c, bch) (5,15, 7

E. pO

[ns]

-1 nui bbye+u4 / 25
4212+ 0.0
pl -35.77 + 0.00

50 1(;0
TP delay

TVC(cbch) (5, 15 1

e pO

[ns]

T nui g3be+u4 / 25
4252+ 0.0
pl -36.24 + 0.00

TP delay

TVC(cbch) (5.15,15

o 2.

e, po

[ns]

- ae+ud ] 25
4219+ 0.0
pL -35.25+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A~ 1 nuiL obae+ud / 25
e po 4148+ 0.0
-33.91+ 0.00

[ C =29.49 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,0,4

S Zbre+ud [ 25
Faue po 4168+ 0.0
pl -33.87 + 0.00

[ C =29.52 [ps/ch]

50 5
TP delay [ns]

TVC(cbch) (6 0,8

- buse+ud 1 25
e pD 4175+ 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(cbch) (6,0,12

-1 nug57se+u4 [ 25
E po 4205+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

A~ 1L 14e+U4 | 25
e po 4162+ 0.0
pL -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

- nu 1zze+ud | 25
Focse po 4178+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

~ 1 nuiLa38e+U5 / 25
E pO 4194+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

-1 nuiz bu0e+ud [ 25
E pO 4200+ 0.0
p1 -35.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.77 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

X~ 1 nuiL8rze+04 [ 25
F. po 4168+ 0.0
[ p1 -34.76 + 0.00

- g z11e+u4 / 25
4195+ 0.0
-35.61+ 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

- 1 s 34ve+U4 | 25
- po 4213+ 0.0
L pl -35.74+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T rnuizgr3e+04 /25
E. pD 4196+ 0.0
L pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A~ 1 nuiLY1se+ud / 25
Fue po 4182+ 0.0
pL -35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

-1 nu 3oge+ud | 25
Fueee po 4201+ 0.0
pl -34.64 + 0.00

[ C =28.87 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

Ry ﬁUbe+u4 125
3 pO 4218+ 0.0
p1 -35.56+ 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

T inuizaroe+u4 [ 25
4211+ 0.0
-35.81+ 0.00

50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

S Uorerud [ 25
PO 4173+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(cbch) (6.1,4

-1z Boze+ud | 25
pO 4175+ 0.0
pl -34.12+ 0.00

[ C=29.31[ps/ch]\,_ ]
% o
TP delay [ns]
TVC(c,b ch) (6 1,8

1nuiLbzye+u4 | 25
PD 4196+ 0.0
pl -34.48 + 0.00

TP delay [ns]

TVC(cbch) (61,12

~ 1 nuiLybye+ud / 25
PO 4196+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

AT 1 nuiL, 7 3oe+u4 [ 25
[Frome, Y 4193+ 0.0
pl -37.31+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

— “nun z.yve+ud [ 25
F DU 4160+ 0.0
pL -35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

T nuw, 7bbe+ud / 25
- DO 4229+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(cbch) (61,13

— T yuse+u4 / 25
F= pO 4191 0.0
pl -35.43 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,1,2)

X~ 1L bose+U4 [ 25
=) po 4209+ 0.0
I pl -37.78 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

S nug.Z( (e+04 ] 25
- pO 4195+ 0.0
r pl -35.96 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

1000

T, (54e+04 [ 25
- DO 4242+ 0.0
I pl -35.43 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

T L s3oe+u4 [ 25
- PD 4189+ 0.0
I pl -34.99 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

A7 1 nuiLbsye+u4 / 25
PO 41931 0.0
p1 -37.31+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

~1nu, (48e+04 | 25
= PO 4189+ 0.0
pL -34.66  0.00

TP delay [ns]

TVC(c,b ch) (6, l

AEALVS iUée+U4/25
- pO 4252+ 0.0
pl -35.42 + 0.00

TP delay [ns]

TVC(cbch) (61,15

T 1 yage+u4 [ 25
PO 4197 + 0.0
pl -35.55 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

A7 1 nun gsse+ud / 25
- po 4197+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (62,4

-z 139e+04 / 25
e, pO 4212+ 0.0
p1 -35.78:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

T/ e+u4 /25
- po 4219+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,2, 12

T z31e+u4 /25
= po 42114 0.0
pl -34.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

x- 1 iz 3340404 | 25
P e po 4208+ 0.0
pL -35.94 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

~nu 1bze+u4 [ 25
[Fomes, pO 4218+ 0.0
pL -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,9

~ 1 naiy zgye+ud [ 25
- po 4262+ 0.0
pl -36.92 + 0.00

TP delay [ns]

TVC(C, bch) (6,213

T nui ygse+ud [ 25
= pO 4236+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,2,2)

- C = 28.33 [ps/ch

A~ 1nug z43e+04 /25
P, po 4207+ 0.0
o pl -35.29+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (62,6

- 1 nurL ysge+ud / 25
- pO 4233 0.0
[ pl -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 2 10

T z.31e+u4 /25
__ DO 4262+ 0.0
- pl -35.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,2 14

~ 1 nuizuspe+ud / 25
. pD 4223+ 0.0
L pl -35.24 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

AT 1 nuz.4uoe+ud [ 25
po 4210+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

-1 nui groe+u4 / 25
- pO 4247+ 0.0
pL -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 2

T, 4ue+u4/25
- pO 4274+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

T inaiz 11ze+ud | 25
= pO 4242+ 0.0
p1 -35.65+ 0.00

TP delay [ns]



TVC(ebeh)=(6,3,0) TVC(ebeh)=(6,3, 1) TVC(ebeh)=(6,3,2) TVC(ebeh)=(6,3,3)
X~ 1L bz1e+U4 | 25 x- 1 L Saserud | 25 X~ 1 i 7uae+Ud | 25 x- 1 L Sose+ud | 25
4000, LY 4195+ 0.0 4000, po 4200 0.0 4000, po 4212+ 0.0 4000 e, po 4215 0.0
pl -36.57 + 0.00 pL -36.81+ 0.00 3 pl -36.63 + 0.00 pL -35.73 0.00

3000

- 3000 =1 3000 -1 3000 -1

2000 -1 2000 = 2000 = 2000

1000 - 1000 =1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6.3,4 TVC(cbch) (6.3, TVC(cbch) (63,6 TVC(c, bch) (63,

S 2‘JE+UA 125 Trnar, i)ZZE+U4/25 “ g 5)‘:lle+U4 125 T rnar 3)4/E+04/25
4000 pO 4228+ 0.0 4000 pO 4231% 0.0 4000 e, pO 4235+ 0.0 4000 fas pO 4246+ 0.0
Pl -37.35: 000 Pl -36.34%0.00 [ PL_ -36.05% 0.00 Pl 3565 0.00
- [ ]

3000~ B 3000 E 3000 b 3000 [ E

2000~ - 2000 ] 2000 . 2000 -

woo- C = 26.77 [ps/c ] 1000 b woo C = 27.74 [ps/ch ] woor C = 28.05 [ps/ch ]

o I b I - I = I =
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,3,8) TVC(eb.c=(6,3,9) TVC(eb.ch=(6, 3, 10) TVC(ebeh)=(6, 3, 11)
T nu.a4e+04 /25 -1 nug.yobe+u4 / 25 T rnuz.yzze+u4 | 25 T ru.bale+u4 [ 25
4000 fe pO 4233+ 0.0 4000 fme pO 4252+ 0.0 4000 fome, DO 4281+ 0.0 4000 fes p0 4260+ 0.0
pl 3589 0.00 Pl -35.37: 000 L PL_ -35.81% 0.00 Pl -35.61% 0.00

3000

T 3000 - 3000 - 3000 .

2000 T 2000 - 2000 -1 2000

1000 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,312 TVC(C, bch) (6,313 TVC(cbch) (6,3 14 TVC(C, bch) (63,15

Tz 1 oe+u4 [ 25 -1 nuiz.yuoe+ud / 25 Tz 141e+04 /25 T nuiz 1o5e+u4 / 25
4000 [, pO 4234+ 0.0 4000 o, pO 4221 0.0 4000, PD 4224+ 0.0 4000 o, pO 4240+ 0.0
pl -35.62+ 0.00 pl -34.97 + 0.00 r pl -36.04 + 0.00 pl -36.28 + 0.00

= 3000

3000 -1 3000 - 1 3000

2000 - 2000 - 2000 =1 2000

1000 1 1000

] 1000 - 1000[-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0)

' po

pl

A7 1nui s44e+04 /25
4196+ 0.0
-35.9+ 0.0

TP delay

TVC(cbch) (64,4

[ns]

T rnuiL34/e+04 / 25
4185+ 0.0
-34+ 0.0

= po
pl
' C=29.41[ps/ch]N\,_ ]

50

1
100

TP delay [ns]

TVC(cbch) (6 4,8

Tz zsoe+u4 | 25
= po 4188+ 0.0
pl -35.46 + 0.00

TP delay

TVC(cbch) (64,12

[ns]

T i sy4e+04 / 25
4220+ 0.0
-33.5+ 0.0

[ C =29.85[ps/ch] .

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1)

.. po

AT rnunL3rse+ud [ 25
4175+ 0.0
-35.35+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui Zoye+ud / 25
4183+ 0.0
-34.73 % 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

Tonuis 111e+ud / 25
4207+ 0.0
-35.1+ 0.0

1
100

TP delay [ns]

TVC(C, bch) (64,13

T nuiayze+ud [ 25
4219+ 0.0
-34.56 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

- po

A~ 1nuoize+ud /25
4190+ 0.0
pl -36.03+ 0.00

TP delay

TVC(cbch) (64,6

pO
p1

[ns]

T rnuiLz/4e+04 [ 25
4187+ 0.0
-35.22 + 0.00

1
100

TP delay [ns]

TVC(cbch) (6, 4 10

1000

©nuiLusse+u4 / 25
po 4239+ 0.0
p1 -34.75 + 0.00

TP delay

TVC(cbch) (64,14

- p"

[ns]

T grse+ud [ 25
4227+ 0.0
-33.61+ 0.00

- C =29.75 [ps/ch] .

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3)

. PO
pl

AT rnuiLsire+ud [ 25
4204+ 0.0
-35.6 + 0.0

TVC(c,b ch) (6 4,7

pO
pl

1
100

TP delay [ns]

- 1nui 4/8e+04 / 25
4199+ 0.0
-34.78 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, 4

T bb/e+U4/25
== 4225+ 0.0

33.79+ 0.00

[ C=29.59 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (64,15

T inuiayie+ud [ 25
4224+ 0.0
-34.46 + 0.00

[ C =29.02 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

K- 1nuiLare+ud 25
o po 4202+ 0.0
p1 -35.63+ 0.00

TP delay [ns]

TVC(cbch) (65,4

[ C =29.39 [ps/ch]

T,/ 9e+ud | 25
— pO 4196+ 0.0
p1 -34.03+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

- nuz 115e+04 | 25
= pD 4215+ 0.0
p1 -35.66+ 0.00

TP delay [ns]

TVC(cbch) (65,12

- 1 nuiz, 108e+04 [ 25
= po 4226+ 0.0
p1 -35.52:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

A~ 1 i 4aae+ud | 25
_ po 4213+ 0.0
pL -35.55 & 0.00

TP delay [ns]
TVC(cbch) (6 55) -
-1 nug.gube+ud / 25
F. 4194$‘
-33.86+ 0.00
[ C=29.53[ps/ch]™, ]
+ o
TP delay [ns]

TVC(c,b ch) (6 59

-1 nuw, poge+u4 / 25
pO 4213+ 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

T inuz134e+04 / 25
pO 4248+ 0.0
p1 -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,5,2)

X~ 1L 57ze+04 [ 25
- po 4224+ 0.0
[ p1 -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

- C = 29.43 [ps/ch]

T nugYye+u4 | 25
fo, pO 4208+ 0.0
- pl -33.98 + 0.00

3000

1
50 100

TP delay [ns]

TVC(eb,ch)=(6, 5, 10

- 1 Ut 16 /e+U4 | 25
- pO 4241% 0.0
[ p1 -35.57+ 0.00

3000

TP delay [ns]

TVC(c,b Ch) (6, 5 14

1w 2.0ve+ud [ 25
- pD 4221+ 0.0
N pl -35.01+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

AT 1 nuiL439e+U4 [ 25
- po 4210+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

S nuggrye+u4 / 25
4209+ 0.0
-34.9+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 5

T, 4b::e+u4/25
- pO 4247+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

- i y3ne+ud [ 25
e, pO 4234+ 0.0
p1 -35.92+ 0.00

TP delay [ns]



TVC(c,b Ch) (6, 6 0) TVC(c,b Ch) (6,6,1) TVC(c,b Ch) (6,6,2) TVC(c,b Ch) (6,6,3)
“w Lzoe+ud | 25 % 1 Ssverua ] 25 X~ 1 uie0a ] 25 % 1L Sase+ud ] 25
4000, pO 4196 0.0 4000, po 4206+ 0.0 4000, po 4202+ 0.0 4000 =, po 4214% 0.0
Pl -35.29+ 0.00 pl_ -35.71%0.00 [ Pl -35.36% 0.00 pl -35.3+ 0.0

3000

-1 3000 -1 3000 -

-1 3000 -

2000 - 2000 -1 2000 = -1 2000

1 ool C = 28,28 [ps/ch ] ol C = 28.33 [ps/ch

1000 B 1000 ]
L 1 1 1 -] _1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6.6,4 TVC(cbch) (66,5 TVC(cbch) (66,6 TVC(c, bch) (66,7

- 1 1uiL.444e+04 / 25 -1 nui bz3e+u4d [ 25 - i 383e+04 / 25 -1 nui blze+u4d / 25
4000 4181+ 0.0 4000, pO 4206+ 0.0 4000k, pO 4194 0.0 4000 o, pO 4206+ 0.0
3491+ 0.00 Pl -36.1630.00 3 PL_ -35.33%0.00 Pl 3575000
[ -]
3000 - 3000 - 3000 . 3000 - -
2000 ] 2000 e 2000 ] 2000 [ -
1000 - 1000 7] w00 C = ] 1o00F C ]
[ C =28.30 [ps/ch 1
- F - L -
- - -
- - -
1 1 1 1 1
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,6,8) TVC(e.c)=(6,6,9) TVC(eb.ch)=(6, 6, 10) TVC(eheh)=(6,6, 1)
©nu,usse+ud / 25 Ty bbe+u4 / 25 © 1 nuz.p44e+04 [ 25 T zyre+u4 [ 25
4000 4216+ 0.0 4000 e, pO 4249+ 0.0 4000 [, DO 4259+ 0.0 4000 [ p0 4255+ 0.0
355+ 0.0 Pl 3479000 [ PL_ -35.81% 0.00 Pl -35.03: 0.00

3000

- 3000 -1 3000

T 3000 -

2000

7 2000 |- - 2000 2000

1000

1000 ] wor C = 28.75 [ps/ch]™, 1000 ]
1 1 - 1 1 -
0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(661 ) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
T rnuiLy4se+u4 | 25 T nai rs0e+ud / 25 1L sYpe+u4 / 25 T nai roze+ud [ 25
4000 [, pO 42335 00 4000 o, pO 4226 0.0 4000 [, PD 4223+ 00 4000 4237+ 00
pl -35.64 + 0.00 pl -35.5+ 0.0 F pl -35.36 + 0.00 -36.01+ 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 [~

-1 1000 - 1000

PR PR S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

A7 1 nui so0e+U4 / 25
4185+ 0.0
-35.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (67,4

-z 113e+04 / 25
4198+ 0.0
-34.6+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

~1nug,159e+04 / 25
= po 4207+ 0.0
pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

Trnuzzsie+u4 | 25
= po 4253+ 0.0
pl -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

x- 1L dyserud | 25
- po 4209+ 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

=1 Ui Yype+u4 / 25
pO 4209+ 0.0
pL -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

T nuiLa43e+U5 / 25
= po 4226+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (67,13

Tinuzz/e+ud [ 25
4247+ 0.0
-37.01+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,2)

A7 1 nui zoze+U4 /25
_l'_ po 4215+ 0.0
o pl -36.11 + 0.00

3000

TP delay [ns]

TVC(cbch) (67,6

1000

T rnun 1 90e+u4 [ 25
- pO 4217+ 0.0
[ pl -34.92+ 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

© 1 nuig.us4e+u4 | 25
= po 4250+ 0.0
L pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (67,14

1000

Tz 1 rse+u4 [ 25
. pD 4251+ 0.0
L pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

AT 1 nuiLosbe+ud /25
=3 po 4215+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

S rnan 2.z23e+04 | 25
- pO 4217+ 0.0
p1 -34.41% 0.00

[ C =29.06 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

- i 2. 4ée+u4/25
e po 4260+ 0.0
pL -37.34:+ 0.00

TP delay [ns]

TVC(C, bch) (67,15

Tinuiz14/e+04 /25
= pO 4260+ 0.0
p1 -36.56 + 0.00

TP delay [ns]



TVC(cbch)(680) TVC(cbch)(681 TVC(cbch)(682) TVC(cbch)(683

AT 1L B31e+u4 / 25 AU u)z:-eﬂ)A/ZS AT 1w Bz4e+04 [ 25 LSRRI u):meﬂ)A/ZS
4000, po 4181+ 0.0 a00E, PO 4179+ 0.0 4000, po 4203+ 0.0 4000 po 4206+ 0.0
pl -34.77+ 0.00 pl -34.61+ 0.00 - pl -34.89+ 0.00 pl -35.6 + 0.0
L 7 =
3000 E 3000 - 3000 ] 3000 [ —
2000 4 2000 - 2000F ] 2000~ T
1000 — 1000 E 1000 C =28.66 [ps/ch ] 1000 -
1 1 1 1 -] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.8.4) TVC(cbch) (6.85) TVC(cbch) (6.8,6) TVC(cbch) (6.8,7)
- 1 01 7e+04 [ 25 - 1 Suse+ud [ 25 - 1L 441e+04 [ 25 -4 se+ud [ 25
4000 [, pO 4266+ 0.0 4000 =, pO 4250 0.0 4000 fme, pO 4261+ 0.0 4000 e, pO 4281+ 0.0
pl -38.69 + 0.00 pl -37.52:+ 0.00 - pl -38.01 0.00 pl -37.76+ 0.00
3000 E 3000 - 3000 3 3000 E
2000 E 2000 - 2000 3 2000 [ E
1000 E 1000 - 1000 C=26.31 [pS/C ] 1000 C E
0 EY 00 0 0 EY 0 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,8,8) TVC(c,b ch) (6.8,9) TVC(c,b, ch) (6,8,10) TVC(c,b ch) (6,8,11)
© i z4ne+04 / 25 T rnu.glae+u4 [ 25 Tonu zq1e+u4/ 25 <1 babe+u4 [ 25
4000 e pO 4211+ 0.0 4000 [ pO 4220+ 0.0 4000 e pO 4252+ 0.0 4000 jum, pO 4258+ 0.0
pl -34.94 + 0.00 pL -34.46  0.00 3 pl -35.15+ 0.00 pL -34.91+ 0.00
3000 B 3000 [ - a000f ] 3000 E
2000 -1 2000 |- - 2000 L —- 2000 -1
1000 ] wor C = 29,02 [ps/ch] ] Lo0op ] 1000 ]
1 1 - [
50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(681 ) TVC(cbch)(6813) TVC(cbch)(681 ) TVC(cbch)(6815)
T nuiL 1goe+ud / 25 T za1e+04 1 25 T 1L, 1pye+ud / 25 T 1 41e+04 /25
4000 pO 4220+ 0.0 4000 e, pO 4232+ 0.0 4000 PD 4220+ 0.0 4000 B, 4229+ 0.0
pl -35.66+ 0.00 pl -35.93+ 0.00 L pl -34.56 + 0.00 -35.01+ 0.00

3000 -1 3000 N 3000 -1 3000 T

2000 1 2000

2000 - 2000

1000 -1 1000

- 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0)

A7 nun ss1e+u4 /25
4213+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (69,4

T rnuaLBu/e+ud [ 25
pO 4236+ 0.0
pl -35.08:+ 0.00

% T
TP delay [ns]
TVC(cbch) (6 9,8

1 nuzyo4e+u4 [ 25
PD 4220+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(cbch) (6,9,12

[ C =29.41 [ps/ch]

T pzie+ud /25
pO 4236+ 0.0
p1 34+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

AT rnunLruze+ud [ 25
- po 4218+ 0.0
pl -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

- nui /14e+04 [ 25
pO 4249+ 0.0
pL -35.72:+ 0.00

=

TP delay [ns]

TVC(c,b ch) (6 9,9

T nun5ube+ud [ 25
po 4232+ 0.0
-35.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (6,9,13

Tinaizroe+ud [ 25
pO 4233+ 0.0
pl -35.17+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

4000

2000

1000

4000

2000

TVC(cbch) (6,9,2)

K™ 1 nuiooae+u4 / 25
po 4236+ 0.0
p1 -37.54+ 0.00

TP delay [ns]

TVC(cbch) (69,6

1000

“ i ro1e+04 / 25
- pO 4258+ 0.0
[ pl -35.64+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 9 10

Trnubye+u4 [ 25
-, po 4259+ 0.0
- pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,9,14

1000

~ 1L bzoe+u4 / 25
. pD 4247+ 0.0
L pl -36.49 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3)

AT 1 nuz.uoze+ud [ 25
po 4241+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

- nui yse+u4 [ 25
pO 4274+ 0.0
p1 -36.64 + 0.00

TVC(c,b ch) (6, 9

50 1(;0
TP delay [ns]

T ysze+u4/25
po 4270+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(C, bch) (69,15

Tonan g aze+ud | 25
pO 4256+ 0.0
p1 -36.45+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T o/e+ud /25
F.... pO 4203+ 0.0
p1 -35.59 + 0.00

TP delay [ns]

TVC(Cbch) (6, 10 4

= i p9se+ud [ 25
Focee po 4212+ 0.0
pl -36.68 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 10,8

-1 nung s11e+u4 [ 25
e, pD 4217+ 0.0
p1 -36.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10 12

T, rzve+u4 | 25
= po 4225+ 0.0
pl -35.28+ 0.00

TP delay [ns]

TVC(chh) (6,10,1)

4ve+u4 | 25
4206+ 0.0
-36.05+ 0.00

FSRALTES

4000 7 po

p1

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (6, 10 5

4000 [ pO

pl

-1 nui B31e+u4 / 25
4216+ 0.0
-36.14 + 0.00

3000 -

2000

1000 [~ C

1
50 100

TP delay [ns]

TVC(eb.oh)=(6, 10,9

4000 e pO

pl

~inuisa18e+u4 [ 25
4221+ 0.0
-35.84 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (6, 10 13

4000 5 pO

p1

TinuzyL/e+ud [ 25
4227+ 0.0
-35.31+ 0.00

3000

2000

1000

TP delay [ns]

4000

2000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

TVC(CbCh) (6,10,2)
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